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M.Com. - I (External)
101 : MANAGEMENT ACCOUNTING (A)

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of simple calculator is allowed.

PA-4130 [Total No. of Pages : 6

SEAT No. :

Q1) Define Management Accounting. Explain Scope and limitations of Management
Accounting. [15]

OR

What do you mean by Financial Statement Analysis? State and explain objectives
of such analysis. What are the various types of financial analysis. [15]

Q2) From the following data for year ended on 31st March, 2019, draw up the
Balance Sheet of Satish Industries Ltd. [15]

Annual Turnover Rs. 60,00,000/- (25% Sales are on Cash Basis)

Sales to Net Worth - 5 Time

Current Liabilities to Net Worth - 40%

Total Debts to Net Worth - 95%

Sales to Inventory - 8 Times

Average Collection Period - 60 Days. (Year consist of 360 days)

Fixed Assets to Net Worth - 70%

Reserve & Surplus - 50% of Share Capital

OR

P.T.O.
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Calculate working capital from the following particulars relating to X Ltd.,
Pune. [15]

Particulars

a) Annual Expenses in Rs.

Wages Rs. 5,20,000/- per annum

Stores and Materials Rs. 96,000/-

Office Salaries Rs. 1,24,800/-

Rent Rs. 24,000/-

Other Expenses Rs. 96,000/-

b) Average amount of Stocks to be maintained

Stock of Finished Goods Rs. 50,000/-

Stock of Materials and Stores Rs. 1,10,000/-

c) Expenses Paid in Advance

Quarterly Advance 16,000/- per annum

d) Annual Sales -

Home Market Rs. 12,48,000/-

Foreign Market Rs. 3,12,000/-

e) Lag in Payment of Expenses

Wages 1 and ½ Weeks

Stores and Materials 1 and ½ Month

Office Salaries ½ Month

Rent 6 Months

Other Expenses 1 and ½ Months

f) Credit allowed to Customers -

Home Market 6 Weeks

Foreign Market 1 and ½ Weeks

Assume 1 year is of 52 Weeks.
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Q3) Balance Sheets of Modern Limited as on 31st March, 2018 & 31st March,
2019. [20]

Liabilities 31-3-2018 31-3-2019 Assets 31-3-2018 31-3-2019

Amount Rs. Amount Rs. Amount Rs. Amount Rs.

Eq. Share Capital 4,00,000 6,00,000 Goodwill 60,000 60,000

8% Prf. Share Land & Building 3,50,000 4,25,000

Capital 4,00,000 2,00,000 Machinery 4,00,000 5,20,000

Share Premium ---- 20,000 Closing Stock 2,55,000 1,85,000

General Reserve 1,50,000 1,75,000 S. Debtors 1,20,000 1,55,000

Profit & Loss A/c 60,000 1,30,000 Bills Receivable 20,000 28,000

S. Creditors 1,25,000 1,48,000 Cash in Hand 5,000 8,000

Bills Payables 13,000 7,000 Cash at Bank 20,000 24,000

O/s. Expenses 12,000 15,000 Preliminary

Proposed Dividend 40,000 60,000 Expenses 20,000 15,000

Provision For

Taxation 50,000 65,000

12,50,000 14,20,000 12,50,000 14,20,000

Additional Information :

a) During the year taxes paid amounted to Rs. 57,500/-

b) Provide depreciation on Land & Building @ 10% p.a. & on Machinery
@ 15% p.a.

c) During the year 8% preference shares were redeemed at 20% premium.

d) Interim Dividend paid amounted to Rs. 25,000/-

e) During the year Machinery having written down value of Rs. 40,000/-
was sold for Rs. 45,000/-

Prepare statement of Sources and Application of funds for year ended 31st

March, 2019 along with necessary working.

OR

Write Short Notes on (Any Two): [20]

a) Functions of Management Accounting.

b) Advantages and Disadvantages of Ratio Analysis.

c) Responsibility Accounting.

d) Trend Analysis.


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Total No. of Questions : 3]
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M.Com. - I (External)
101 : FINANCIAL ANALYSIS AND CONTROL (B)
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Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of simple calculator is allowed.

PA-4130

Q1) Using the following information calculate Labour Cost Variance, Labour Rate
Variance and Labour Efficiency variance for each Department. [15]

Particulars Department X Department Y

Gross Direct Wages Rs. 2,79,500/- Rs. 2,35,000/-

Standard Hours Worked 6,800 hrs. 4,500 hrs.

Standard Rate Per Hour Rs. 40/- Rs. 52/-

Actual Hours Worked 6,500 hrs. 4,700 hrs.

OR

A Company is considering purchase a machine. Two alternative machines are
available having cost price of Rs. 10,00,000/- each. The following inflows are
expected during the five years. Life of both machines is five years. [15]

Cash Inflows during five years

Year Machine A Machine B

Amount in Rs. Amount in Rs.

1 80,000/- 2,00,000/-

2 3,20,000/- 5,00,000/-

3 7,50,000/- 8,00,000/-

4 5,00,000/- 3,00,000/-

5 3,00,000/- 1,00,000/-
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The Present Value of Re. 1 to be received at the end of each year @ 10% p.a.
is given below.

Year 1 2 3 4 5

Present Value of Re. 1 @ 10% p.a. 0.909 0.826 0.751 0.686 0.621

Evaluate the two alternatives according to -

a) Payback Period Method.

b) Average Rate on Average Investment Method.

c) Net Present value method.

Q2) A factory producing two different kinds of products using same raw materials
has provided you the following details about the products. [15]

Particulars Product X Product Y

Raw Material per unit 30 Kg @ Rs. 150/- per kg 20 Kg @ Rs. 150/- per Kg

Direct Wages per unit 10 hrs. @ Rs. 200/- per hr. 15 hrs. @ Rs. 200/- per hr.

Variable Overheads per unit Rs. 1,000/- Rs. 1,000/-

Sales Price per unit Rs. 10,000/- Rs. 9,000

Fixed Cost Rs. 22,00,000/-

Guide the management which product is profitable in following situations -

a)  When Sales in units is limiting factor.

b) When Sales in volume is key factor.

c) When Raw Material is in short supply.

d) When Direct Labour Hours are limiting factor.

Suggest the best sales mix if maximum sale of any one product is 1,000 units
and maximum raw material available is 44,000 Kg. and profit from that sales
mix.

OR



6[5956]-Ext.-1001

On the basis of following data, prepare flexible budget for overheads at 50%,
60% and 80% capacity and ascertain overhead absorption rate for above
three levels. [15]

Particulars Amount in Rs.

At 60% Capacity

Variable Overheads

Indirect Material Rs. 36,000/-

Indirect Wages Rs. 1,08,000/-

Semi-Variable Overheads

Electricity Charges (40% Fixed) Rs. 1,80,000/-

Repairs (20% Variable) Rs. 18,000/-

Fixed Overheads

Depreciation Rs. 33,000/-

Insurance Rs. 9,000/-

Salaries Rs. 3,00,000/-

Estimated Direct Labour Hours 1,86,000 hrs.

Q3) Write Short Notes on (Any Two): [20]

a) Material Variances.

b) Internal Rate of Return.

c) Significance of Cost of Capital.

d) Types of Functional Budgets.


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M. Com. (Part - I) (External)

STRATEGIC MANAGEMENT
(2013 Pattern) (Semester - I) (102-B(A))

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4131

Q1) Define Strategic Management. Describe nature and scope of Strategic
Management. [14]

OR

a) Explain the benefits formulating a Vision Statement. [7]

b) What are benefits of Corporate Social Responsibility? [7]

Q2) What is Strategic Planning? Explain the advantages and disadvantages of
Strategic Planning. [14]

OR

a) Explain the types of International Strategies. [7]

b) Explain in brief Mergers of companies. [7]

Q3) a) Explain the Evaluation Techniques for Operational Control. [7]

OR

Explain the types of Corporate Restructing.

b) Explain the significance of Marketing Strategy. [7]

OR

Explain the Advantages of Total Quality Management.

SEAT No. :

P.T.O.
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Q4) Write a short note (any two) : [8]

a) Research and Development Strategy.

b) Manpower Planning.

c) Benchmarking.

d) Production Strategy.


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Total No. of Questions : 4]

[5956]-Ext-1002
M. Com. (Part - I) (External)

STRATEGIC MANAGEMENT
(2013 Pattern) (Semester - I) (102-B(A))

(_amR>r ê$nm§Va)
doi : 3 Vmg]                      [EHy$U JwU : 50
gyMZm : 1) gd© àíZ A{Zdm¶© AmhoV.

2) COdrH$S>o {Xboë¶m g§»¶m nyU© JwU Xe©dVmV.

àíZ 1) ì¶wìhaMZmË‘H$ ì¶dñWmnZ g§H$ënZm ñnï> H$am. ì¶wìhaMZmË‘H$ ì¶dñWmnZmMr JaO Am{U
ì¶már ñnï> H$am. [14]

qH$dm

A) Ñï>r {dYmZ AmIÊ¶mMo ’$m¶Xo ñnï> H$am. [7]

~) ì¶mdgm¶rH$ gm‘m{OH$ O~m~XmarMo ’$m¶Xo ñnï> H$am. [7]

àíZ 2) ì¶wìhaMZmË‘H$ {Z¶moOZ åhUOo H$m¶? ì¶wìhaMZmË‘H$ {Z¶moOZmMo ’$m¶Xo Am{U VmoQ>o ñnï> H$am.
[14]

qH$dm

A) Am§Vaamï´>r¶ ì¶wìhaMZoMo àH$ma ñnï> H$am. [7]

~) H§$nÝ¶m§Mo {dbrZrH$aU WmoS>³¶mV ñnï> H$am. [7]

àíZ 3) A) H$m¶m©Ë‘H$ {Z¶§ÌUmÀ¶m ‘yë¶‘mnZmMr V§Ìo ñnï> H$am. [7]

~) ì¶mdgm{¶H$ nwZa©MZoMo àH$ma ñnï> H$am. [7]

qH$dm

A) {dnUZ ì¶wìhaMZoMo ‘hËd ñnï> H$am. [7]

~) EHy$U JwUdÎmm ì¶dñWmnZmMo ’$m¶Xo ñnï> H$am. [7]

PA-4131

P.T.O.
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àíZ 4) {Q>nm {bhm (H$moUË¶mhr XmoZ) : [8]

A) g§emoYZ Am{U {dH$mg ì¶wìhaMZm.

~) ‘Zwî¶~i {Z¶moOZ.

H$) Vm¡b{ZH$ à‘mUrH$aU (~§oM‘m{Hª$J)

S>) CËnmXZ ì¶wìhaMZm.


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BUSINESS STATISTICS
(2013 Pattern) (Semester - II) (102-B(B))

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical table and calculator is allowed.
4) Symbols have their usual meanings.

PA-4131

Q1) Attempt any two of the following : [2 × 7 = 14]

a) Consider a random experiment of tossing a pair of unbaised die and if
the discrete random variable (r.v.) × denotes the sum of numbers appered
on the upper most face. Write down the probability distribution of r.v.x.
Hence obtain its mean.

b) If a continuous r.v.x with following probability density function (p.d.f.)

f (x) = k x  ; 0 < x < = 1

= 0 ; otherwise

then obtain the value of constant k and  E(X).

c) Define normal distribution. State its mean, variance and standard deviation.
State its properties.

Q2) Attempt any two of the following : [2 × 7 = 14]

a) i) If X  poisson (m) with p (X = 0) 
1
2

 then obtain the value of

parameter m. Hence obtain mean and variance of X.

ii) Distinguish between parameter and statistic with illustration.

5
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b) i) If X  B(n, p) with E(x) = 12, var (X) = 6 then find the value of n
and p. Hence find p (x = 0).

ii) Define the terms : Null and Alternative hypothesis with illustration.
c) I X  N(50, 9) then find

p (X < 50), p (x > 50), p (x, < 56), p (x > 47)

p (47 < X < 53), E(2x), E 50
3

x  
 
 

Q3) Attempt any two of the following : [2 × 7 = 14]
a) Explain the terms : Critical region, Aceptance region, level of signifiacne,

p - value.
b) Explain paired t - test in brief.
c) The following table show that the classification of 120 workers in a

factory according to the disciplinary action taken by the management for
their promotional experience.

Disciplinary Promotional Experience
Action Promoted Not promoted

Non offenders 100 258
offenders 42 800

Test at 5% level of significance, Whether the promotional experience is
independent of disciplinary action?

Q4) Attempt any two of the following : [2 × 4 = 8]
a) Explain with illustration : Type I error,

Type II error,
b) Define binomial distribution. State its mean, variance. State real life

situations of it.
c) Explain large sample test for proportion.


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Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-4132 [Total No. of Pages : 4

SEAT No. :

Q1) Define the term ‘Business Research’. Explain the importance & objectives of
Research. [15]

OR

What is Hypothesis? Explain the types of Hypothesis.

Q2) What is Research problem? Explain the Techniques involved in defining a
Research problem. [15]

OR

What is Primary Data? Explain the Advantages & Disadvantages of Primary
Data.

Q3) Write Short Notes (Any Two): [20]

a) Steps in Research.

b) Bibliography.

c) Types of Measurement.

d) Footnote.


P.T.O.
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Total No. of Questions : 3]

[5956]-Ext.-2001

M.Com. - II (External)
202 - A : RESEARCH METHODOLOGY FOR BUSINESS

(2013 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4132

à.à.à.à.à.1) "ì¶mdgm{¶H$ g§emoYZ' øm g§koMr ì¶m»¶m Úm. g§emoYZmMo ‘hÎd d C{Ôï>²¶o ñnï> H$am. [15]

qH$dm

"J¥{hVH¥$Ë¶' åhUOo H$m¶? J¥{hVH¥$Ë¶m§Mo àH$ma ñnï> H$am.

à.à.à.à.à.2) "g§emoYZ g‘ñ¶m' åhUOo H$m¶? g§emoYZ g‘ñ¶m {ZpíMVrVrb g‘m{dï> V§Ìo ñnï> H$am. [15]

qH$dm

"àmW{‘H$ ‘m{hVr' åhUOo H$m¶? àmW{‘H$ ‘m{hVrMo ’$m¶Xo d VmoQ>o ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]

A) g§emoYZmVrb nm¶è¶m

~) g§X^© J§«W gyMr

H$) ‘mnZmMo àH$ma

S>) ViQ>rn


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Total No. of Questions : 3]

[5956]-Ext.-2001

M.Com. - II (External)
202 - B : INDUSTRIAL ECONOMIC ENVIRONMENT

(2013 Pattern) (Semester - IV)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4132

Q1) Write in detail major environmental issues in the process of Industralization.
[15]

OR

What is SEZ? Explain in detail problems of SEZ.

Q2) What is liberalization? Explain effects of liberalization on Indian Industry.[15]

OR

Define Industrial Finance. Explain internal sources of Industrial Finance.

Q3) Write short notes on (Any Two): [20]

a) Prospects of IT Industry.

b) Causes of Industrial desputes.

c) Issues in Information Technology.

d) Labour policy reforms.


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M.Com. - II (External)
202 - B : INDUSTRIAL ECONOMIC ENVIRONMENT

(2013 Pattern) (Semester - IV)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4132

à.à.à.à.à.1) Am¡Úmo{JH$sH$aUmÀ¶m à{H«$¶o‘Yrb n¶m©daU{df¶H$ à‘wI àíZ g{dñVa {bhm. [15]

qH$dm

goP åhUOo H$m¶? goPÀ¶m g‘ñ¶m g{dñVa ñnï> H$am.

à.à.à.à.à.2) CXmarH$aU åhUOo H$m¶? CXmarH$aUmMo ^maVr¶ CÚmoJm§darb n[aUm‘ ñnï> H$am. [15]

qH$dm

Am¡Úmo{JH$ {dÎm nyadR>¶mMr ì¶m»¶m Úm. Am¡Úmo{JH$ {dÎm nyadR>¶mMo A§VJ©V òmoV ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]

A) Am¶Q>r CÚmoJmMo ^{dVì¶

~) Am¡Úmo{JH$ H$bhmMr H$maUo

H$) ‘m{hVr V§ÌkmZmVrb g‘ñ¶m

S>) H$m‘Jma gwYmaUm YmoaU


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M.Com. (Part - II) (External)
202 - A : RESEARCH METHODOLOGY FOR BUSINESS

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PA-4240 [Total No. of Pages : 5

SEAT No. :

Q1) Define the term ‘Business Research’. Explain the importance & objectives of
Research. [15]

OR

What is Hypothesis? Explain the types of Hypothesis.

Q2) What is Research problem? Explain the Techniques involved in defining a
Research problem. [15]

OR

What is Primary Data? Explain the Advantages & Disadvantages of Primary
Data.

Q3) Write Short Notes (Any Two): [20]

a) Steps in Research.

b) Bibliography.

c) Types of Measurement.

d) Footnote.


P.T.O.
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Total No. of Questions : 3]

[5956]-Ext.-2002

M.Com. (Part - II) (External)
202 - A : RESEARCH METHODOLOGY FOR BUSINESS

(2013 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 50

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4240

à.à.à.à.à.1) "ì¶mdgm{¶H$ g§emoYZ' øm g§koMr ì¶m»¶m Úm. g§emoYZmMo ‘hÎd d C{Ôï>²¶o ñnï> H$am. [15]

qH$dm

"J¥{hVH¥$Ë¶' åhUOo H$m¶? J¥{hVH¥$Ë¶m§Mo àH$ma ñnï> H$am.

à.à.à.à.à.2) "g§emoYZ g‘ñ¶m' åhUOo H$m¶? g§emoYZ g‘ñ¶m {ZpíMVrVrb g‘m{dï> V§Ìo ñnï> H$am. [15]

qH$dm

"àmW{‘H$ ‘m{hVr' åhUOo H$m¶? àmW{‘H$ ‘m{hVrMo ’$m¶Xo d VmoQ>o ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]

A) g§emoYZmVrb nm¶è¶m

~) g§X^© J§«W gyMr

H$) ‘mnZmMo àH$ma

S>) ViQ>rn


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Total No. of Questions : 4]

[5956]-Ext.-2002
M.Com. (Part - II) (External)

202-B : OPERATION RESEARCH
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical table and calculator is allowed.
4) Symbols have their usual meanings.

PA-4240

Q1) Attempt any two of the following : [2 × 7 = 14]
a) Solve the following L.P.P. by graphical method.

Max. z = 3x
1
 + 5x

2

Subject to      2x
1
 + x

2
 > 7

      x
1
 + x

2
 > 6

      x1 + 3x2 > 9
      x

1
 > 0, x

2
 > 0

b) Solve the following game using dominance principle.

Player A 

Player B

I II III IV

I 8 10 9 14

II 10 11 8 12

III 13 12 14 13

 
 
 
  

c) Explain the terms : Slack variable, surplus variable, artificial variable,
feasible solution.

Q2) Attempt any two of the following : [2 × 7 = 14]
a) i) Write the dual of the following L.P.P.

Max. z = 5x
1
 + 3x

2

Subject to x1 + x2 < 2
5x

1
 + x

2
 < 10

3x
1
 + 8x

2
 < 10

x
1
, x

2
 > 0
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ii) Write canonical form of the following L.P.P.
Max. z = 15x1 + x2

Subject to x
1
 + 2x

2
 < 10

    2x
1
 + 3x

2
 = 12

x1 + x2 > 3
x

1
, x

2
 > 0

b) Obtain an initial basic feasible solution of the following transportation
problem by matrix minima method.

Destination → D1 D2 D3 D4 Capacity

Source ↓
S1 19 30 50 10 7

S2 70 30 40 60  2

S3  40 8 70 20 18

Demand 5 8 7 14

Also find the corresponding transportation cost.

c) Solve the following assignment problem for minimization

 

I II III

A 7 3 5

B 2 7 6

C 6 5 3

D 3 4 7

 
 
 
 
 
 

Q3) Attempt any two of the following : [2 × 7 = 14]

a) Solve the following L.P.P. by simplex method

Min. z = x
1
 – 3x

2
 + 2x

3

Subject to     3x
1
 – x

2
 + 2x

3
 < 7

  –2x1 + 4x3 < 12

 –4x1 + 3x2 + 8x3 < 10

     x1, x2, x3 > 0
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b) Obtain an initial basic feasible solution of the following transportation
problem by VAM.

To D1 D2 D3 D4 Supply
From
O1 19 30 50 10 7
O2 70 30 40 60 9
O3 40  8 70 20 18

Demand 5 8 7 14
Also find the corresponding transportation cost.

c) Find the minimum cost spanning free for the following network V :

Q4) Attempt any two of the following : [2 × 4 = 8]
a) Discuss the various steps involved in the application of PERT and CPM.

b) Find minimax and maximin for the following Matrix 

3 2 6

3 2 4

5 3 4

− − 
 
 
 − 

c) Explain the following terms with reference to transportation problem :
Optimal solution, Dummy source, Dummy destination.


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[5956]Ext.-2003
M.Com.  (Part - II) (External)
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Q1) Explain the socio-economic benefits of Cost Audit. [15]
OR

Describe the provisions of The Companies Act, 2013 regarding. [15]
a) Appointment of Cost Auditor

b) Qualifications of Cost Auditor

c) Rights of Cost Auditor

Q2) H Ltd. has furnished you the following information from the Financial books
for the year ended 30th June, 2022 : [15]

Financial Profit & Loss Account

For the year ended 30th June, 2022

Particulars Amount (Rs.) Particulars Amount (Rs.)

To Purchases 1,26,050 By Sales (25,000

units at Rs. 15) 3,75,000

Direct wages 52,500 Rent Received 1,300

Factory Overheads 60,650 Profit on sale of

investment 11,700

Office & Administrative Closing Stock 20,400

overheads 26,700

Depreciation 5,500

Selling Expenses 35,500

Net Profit 1,01,500

Total 4,08,400 Total 4,08,400

P.T.O.
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The cost sheet shows the costing profit of Rs. 98.850 and closing stock of
Rs. 21,400. The factory overheads are absorbed at 100% of direct wages and
Office and Administrative overheads are charged at Re. 1 per unit. Selling
expenses are charged at 10% of Gross of sales. Depreciation in cost account
absorbed was Rs. 4,000.

You are required to prepare :

a) A statement showing profit as per cost account for the year ended 30th

June, 2022.

b) Statement showing the reconciliation of profit disclosed in cost accounts
with the profit shown in the financial accounts.

OR

What do you mean by the term ‘Cost Audit Programme’? Explain important
points to be included in Cost Audit Programme. [15]

Q3) Write Short Notes (Any Two): [20]

a) Audit Working Papers.

b) Annexure 1 of cost Audit Report.

c) Benefits of Cost Audit.

d) Various forms used in the process of Cost Audit.


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Q1) Give the meaning of Six Sigma and explain its implementation roles, quality
management methods and criticism of Six Sigma. [15]

OR

What do you mean by Excise Audit? Explain the procedure of Excise Audit
2000.

Q2) State the objective and scope of Cost Accounting Standards 10 and 11. [15]

OR

Explain the concept of Six Sigma. What are steps involved in Six Sigma.[15]

Q3) Answer in brief. (Any two): [20]

a) Write a note on Principles of measurement of CAS - 18.

b) Explain the meaning and objectives of  VAT Audit.

c) Write a note on cover story published in July 2016 in the Management
Accountant Journal on “Achieving Business Excellence Through “Six
Sigma” Written by CMA Dr. M. Govindrajan.

d) Write detail note on “Skill Development for capacity building” The article
published in the Journal Management Accountant in August 2016.


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Q1) What is Internal Audit? State the scope nature and purpose of Internal Audit.[15]

OR

What is meant by carbon Credit and trading of carbon credit? Explain the
accounting and taxation aspect of carbon credit [15]

Q2) What is Extensible business reporting language (XBRL)? State its components
and benefits. [15]

OR

What is government audit? Explain the various objectives of Government
audit. [15]

Q3) Write short notes any four [20]

a) Government system of accounting.

b) Human resource accounting.

c) Creative accounting.

d) Disclosures in financial statements.

e) Inflation accounting.

f) IFRS.

P.T.O.
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Q4) a) Indicate whether the following acts can be considered as tax planning or
tax management or tax evasion. [25]

i) P deposits Rs. 1,00,000 in public provident fund (PPF) account so
as to reduce his total income from Rs. 3,40,000 to Rs. 2,40,000.

ii) SQL Ltd., maintains register of tax deduction at source affected by
it to enable timely compliance.

iii) An individual tax payer making tax saver fixed deposit of Rs. 1,00,000
in a nationalized bank.

iv) A bank obtaining declaration from depositors in form No. 15G/15 H
and forwarding the same to income-tax authorities.

v) Z debits his household expenses as business expenses in the books.

b) M/s Basu & Co., an audit firm based in Kolkata undertake an Audit
assignment of a Mumbai based client. The contract with the client
includes Rs. 5,00,000 as audit fee and arrangement of taxi for movement
of auditors amounting to Rs. 15,000 actually spent by the auditors and
reimbursed by the client. Find out the transaction value in the hands of
M/s Basu & Co. [5]

Q5) The following is the Profit and Loss for the year ending 31st March 2022 and
Balance Sheet as on that date of C Ltd. [20]

     Dr.  Profit and Loss Account for the year ending 31st March 2022 Cr.

Particulars Amount Particulars Amount

To Opening Stock 10,000 By Sales 1,00,000

To Purchases 55,000 By Closing Stock 15,000

To Gross Profit c/d 50,000

Total 1,15,000 Total 1,15,000

To Office Expense 15,000 By Gross Profit b/d 50,000

To Interest 3,000

To Selling Expense 12,000

To Net Profit c/d 20,000

Total 50,000 Total 50,000
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Balance sheet as on 31st March 2022

Liabilities Amount Assets Amount

Share Capital Shares

at 10 each 1,00,000 Land and Building 50,000

Profit and Loss 20,000 Plant and machinery 30,000

Creditors 25,000 Stock 15,000

Bills Payable 15,000 Debtors 15,000

Bills receivable 12,500

Cash at Bank 17,500

Furniture 20,000

Total 1,60,000 Total 1,60,000

Other information

a) Average Debtors Rs. 12,500

b) Credit Purchases Rs. 40,000

c) Credit Sales Rs. 80,000

Calculate

1) Stock Turnover Ratio

2) Debtors Turnover Ratio

3) Creditors Turnover Ratio

4) Gross Profit Ratio

5) Net Profit Ratio


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Q1) What do you mean by Management Accounting? Explain Scope and Functions
of Management Accounting. [20]

OR
The following are the summarized Balance Sheets of Bita Ltd. Pune. [20]

Liabilities 31-3-21 31-3-22 Assets 31-3-21 31-3-22
Amt. Rs. Amt. Rs. Amt. Rs. Amt. Rs.

Equity Capital 3,00,000 4,00,000 Goodwill 1,15,000 90,000
8% Pref, Capital 1,50,000 1,00,000 Plant 80,000 2,00,000
Profit & loss a/c 30,000 48,000 Land & Building 2,00,000 1,70,000
General Reserve 40,000 70,000 Inventory 87,000 1,19,000
S Creditors 65,000 88,000 S. Debtors 1,50,000 2,00,000
Bills payable 10,000 11,000 Cash & Bank 25,000 8,000
Proposed 39,000 60,000 Bills Receivables 20,000 30,000
Dividend
Provision for
Taxation 43,000 40,000
Total 6,77,000 8,17,000 6,77,000 8,17,000

Additional Information:
a) Depreciation has been charged on Plant and Land Building amounted

Rs. 10,000/- and Rs. 20,000/- respectively during the year 2021-22.
b) Interim Dividend of Rs. 20,000- has been paid in the year 2021-22.
c) Income tax paid during the year 2021-22 amounted to Rs. 35,000/-.
Prepare funds flow statement for year ended 31st March, 2022 with necessary
working.
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Q2) From the following information prepare Balance Sheet of Tanuja Ltd. Mumbai
as on 31st March, 2022. [20]
Current Ratio 2.5 : 1
Acid Test Ratio 1.5 : 1
Working capital Rs. 60,000/-
Reserve and Surplus Rs. 40,000/-
Bank Overdraft Rs. 10,000/-
Fixed Assets to Proprietors Fund 0.8
There are no long term liabilities or fictitious assets current liabilities includes
S. Creditors and bank over draft.

OR
From the following information of Ram Ltd. you are required to determine the
Working capital requirement. [20]
Annual Expected Sales Rs. 3,60,000/-
Analysis of Sales
Raw Material - 50% Expenses - 30% and Profit - 20% of Sales
Credit allowed by S. Creditors is 1.5 Months and Credit allowed to S. Debtors
is 2.5 Months Raw Material is Store for 1 Month whereas Finished Goods in
Warehouse for 4 Months. Processing Period is 2 Months (For valuation of
work in Progress assume material @ 100% and Expenses @ 50% completion
stage)
Bank Overdraft Rs. 1,00,000/-
Cash in Hand for Contingencies Rs. 60,000/-
A year consists of 48 Weeks i.e. 4 weeks consists of a month.

Q3) Suraj Ltd. is considering purchase of new machine. Two alternative models
are available each having cost price of Rs. 20,00,000/-. Estimated useful life
of machine is 5 years. Following inflows are expected during the five years.[20]

Inflows during five years

Year Machine A Machine B

Amount in Rs. Amount in Rs.

1 2,00,000/- 6,00,000/-

2 6,00,000/- 8,00,000/-

3 8,00,000/- 12,00,000/-

4 12,00,000/- 5,00,000/-

5 8,00,000/- 4,00,000/-
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The Company is expecting 10% return on its capital. The Present value of Re.
1 at the end of each year @ p.a. is given below.
Year 1 2 3 4 5
Present value of Re. 1 @ 10% p.a. 0.909 0.826 0.751 0.683 0.621
Evaluate the two alternative according to-
a) Payback Period Method.
b) Average Rate on Average Investment Method.
c) Net Present value method.
d) Profitability Index.

OR
Costing department of X limited manufacturer of special purpose components
has supplied following information about its cost structure- [20]
Direct Material Rs. 800/-, Direct Wages Rs. 620/- and variable overheads Rs.
380/- per unit. The fixed cost amounts to Rs. 16,00,000/- per annum. The
selling price of the component in local market is Rs. 2,250/- per unit.
You are required to find out-
a) P/V Ratio.
b) Break eve sales and Break Even Units.
c) How many units of component required to be sold to make profit of Rs.

4,00,000/-.
d) How many units of components required to be sold to attain break even

if the selling price is reduced by Rs. 100/- per units to meet local
competition.

Q4) Define Budget, Budgeting and budgetary control. State and explain various
types of budgets used by the management. [20]

OR
Standard Data and Actual Data of a Product XYZ is as follows. [20]

Particulars Standard Data Actual data for 2.700 units
Qty Amount in Rs. Qty Amount in Rs.

Material A 60 kg Rs. 1,000/-per kg 1,700 kg Rs. 1,100/- per kg
Material B 40 kg Rs. 500/- per kg 1,400 kg Rs. 480/- kg
Standard
output  90 Units

Find out Material cost variance, Material Price Variance, Material Usage variance,
Material mix variance and Material yield variance.
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Q5) Write short notes (Any two). [20]

a) Techniques of Financial Statement analysis.

b) Implicit cost and explicit cost.

c) Objectives and limitations of responsibility accounting.

d) Assumptions of Break Even Analysis.





Q1) Explain nature and scope of Industrial Economics. [20]

OR

Explain August Losch's theory of Location.

Q2) Explain the factors Influencing Industrial productivity. [20]

OR

What is Industrial profitability? Explain measurement of industrial
profitability.

Q3) Explain the role and problems of Large Scale Industries in India Economy.
[20]

OR

Explain the Disinvestment policy by Indian Government.

Q4) What is mean by Industrial Imbalance? What are the measures adopted by
the Indian Government to reduce Industrial Imbalance. [20]

OR

Explain the causes and effects of Industrial Imbalance.

Total No. of Questions : 5]
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Q5) Write short notes on (Any two) : [20]

a) Relationship between Industrial Development and Economic
Development.

b) Industrial Location

c) Industrial Efficiency

d) Industrial Productivity


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àíZ àíZ àíZ àíZ àíZ 1) Am¡X²̀ mo{JH$ AW©emómMo ñdê$n Am{U ì`már ñnï> H$am. [20]

qH$dm

Am¡X²̀ mo{JH$ ñWmZ{ZpíMVrMm Am°JñQ> bm°íMMm {gÕm§V ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Am¡X²̀ mo{JH$ CËnmXH$Voda n[aUm_ H$aUmao KQ>H$ ñnï> H$am. [20]

qH$dm

Am¡X²̀ mo{JH$ bm^àXVm åhUOo H$m`? Am¡X²̀ mo{JH$ bm^àXVoMr _mnZo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) ^maVr` AW©ì`dñWoVrb _moR>`m CX²̀ moJm§Mr ŷ{_H$m d g_ñ`m ñnï> H$am. [20]

qH$dm

^mVa gaH$maMo {ZJwªVdUwH$ YmoaU ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Am¡X²̀ mo{JH$ Ag_Vmob åhUOo H$m`? Am¡X²̀ mo{JH$ Ag_Vmob H$_r H$aÊ`mgmR>r ^maV gaH$maZo
Ho$boë`m Cnm``moOZm H$moUË`m? [20]

qH$dm

Am¡X²̀ mo{JH$ Ag_VmobmMr H$maUo d n[aUm_ ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 5) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) … [20]

A) Am¡X²̀ mo{JH$ {dH$mg Am{U Am{W©H$ {dH$mg `m_Yrb Am§Vag§~§Y

~) Am¡X²̀ mo{JH$ ñWmZ{ZpíMVr

H$) Am¡X²̀ mo{JH$ H$m ©̀j_Vm

S>) Am¡X²̀ mo{JH$ CËnmXH$Vm





Q1) Short Notes : (Any Three) [15]
a) Accounting Principles
b) Concept of Accounting Theory
c) Concept of Leasing
d) Liquidator’s Statement of Affairs
e) Types of Leasing

Q2) A Ltd., acquired 32,000 Equity Shares of B. Ltd., of Rs. 10 each on 31st

March, 2016. The summarized Balance Sheet of A Ltd. And B Ltd. As on
that date were as under : [20]

Balance Sheet as on 31-03-2016
Liabilities A Ltd. B Ltd. Assets A Ltd. B Ltd.

(Rs.) (Rs.) (Rs.) (Rs.)
Share Capital : 10,00,000 4,00,000 Land & Buildings 3,00,000 3,60,000
Equity Shares of Rs. Plant and 4,80,000 2,18,800
10 Each Machinery
General Reserve 4,80,000 2,40,000 Investment in 6,80,000 -

Shares in B Ltd.
(at Cost)

Profit & Loss A/C 1,14,400 72,000 Stock 2,40,000 72,000
Bank Overdraft 1,60,000 - Sundry Debtors 88,000 80,000
Bills Payable Bills Receivables 31,600 -
(Including Rs. 3,000 (Including Rs.
payable to A Ltd.) - 16,800 3,000 from

B. Ltd.)
Sundry Creditors 94,200 18,000 Cash at Bank 29,000 16,000
Total 18,48,600 7,46,800 Total 18,48,600 7,46,800

Total No. of Questions : 6]
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You are supplied the following Information :

1. The Directors are advised that Land and Buildings of B. Ltd. Are
undervalued by Rs. 20,000 and Plant and Machinery of B ltd. are
overvalued by Rs. 10,000. Their Assets have to be adjusted accordingly.

2. Sundry Creditors of A Ltd. includes Rs. 12,000 due to B. Ltd.

You are required to prepare the Consolidated Balance Sheet in Horizontal
Form as at 31-03-2016 along with necessary workings.

OR

A) On 31st March 2018 the balance sheet of domino Ltd., show the
following position. Balance Sheet As on 31st March 2018 [10]

Liabilities Rs. Assets Rs.

Share Capital Goodwill 40,000

Equity shares of Rs. 10 each 4,00,000 Fixed Assets 5,00,000

General Reserve 90,000 Current Assess 2,00,000

Profit & Loss A/C 20,000

Current Liabilities 2,30,000

7,40,000 7,40,000

Additional information :

i) On 31st March 20l8 the fixed assets were independently valued at
Rs. 3,50,000 and Goodwill at Rs. 50,000.

ii) The net profit for the three years were

Year Profit (Rs.)

2015-16 51,600

2016-17 52,000

2017-18 51,650

of which 20% was placed to reserve, this proportion being considered
reasonable in the industry in which the company is engaged and here a
fair investment return may be taken at 10%.

Compute the value of company’s shares as per

a) Intrinsic value method

b) Yield value method

c) Fair value method
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B) The Net Profits of Rajesh & Co. after providing for taxation for the
last five years are as under :

Years 2016 2017 2018 2019 2020

Profits (Rs.) 80,000 80,000 60,000 1,00,000 1,00,000

The Capital Employed in the Business Rs. 9,25,000 and Normal Rate
of Return expected in such a type of Industry is 8%.

Calculate the Value of Goodwill on the Basis of Three Years Purchase
of Super Profit Method. [10]

Q3) Universal Ltd. has its H.O. in Calcutta and a Branch in Mumbai which
keeps its own books. Summarized Trial Balance as on 31st December 2000
are given below. The Mumbai Branch profit for the year 2000 had not been
incorporated in the H.O. books. [15]

Calcutta H.O. Amt (Rs.) Amt (Rs.)
Debit Credit

Capital 1,00,000

Fixed Assets 1,40,000

Current Assets and Liabilities 88,000 49,000

Profit and Loss Account: Balance 1st Jan. 2000 67,000

Calcutta Profit for 2000 54,000

Mumbai Branch Account (1.1.2000) 66,400

Remittance from Branch 30,000

Goods sent to Branch (at cost) 5,600

Total 3,00,000 3,00,000

Mumbai Branch Amt (Rs.) Amt (Rs.)
Debit Credit

Fixed Assets 36,500

Current Assets and Liabilities 31,800 17,300

Head Office Account (1.1.2000) 66,400

Remittance to Head Office 32,000

Goods from Head Office 5,150

Profit and Loss Account 11,450

Total 1,00,300 1,00,300
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The Branch remitted Rs.2,000 cash to Head Office on 31.12.2000 and
head office sent goods to the Branch of Rs.450 (at cost) on the same day,
both are in transit. Write up the Branch Account in Head Office Ledger, the
Head Office Account in Branch Ledger. You are required to prepare a
summarized Balance Sheet for the entire business.

Q4) Short Notes : (Any Three) [15]
a) Agricultural Income
b) Capital Gains
c) Concept of ‘Assesse’ as per IT Act
d) Residential Status of an Individual
e) Income from Other Sources

Q5) Mr. Atish is a Manager of a Multinational Company at Delhi. He has
submitted the following particulars of his salary income for the financial
year 2021-22 : [15]
A. Basic Salary 4,20,000 (Annual)
B. D.A. 24,000 PM (10,000 p.m. enters into retirement benefits)
C. Education Allowance for two children 1,300 p.m. per child and hostel

allowance for elder son 1,450 p.m.
D. Commission on sales 40,000.
E. Entertainment Allowance 800 p.m.
F. Travelling Allowance for his official tours 80,000 (Actual tour

expenditure on tour is 54,000)
G. He was given cloth worth 4,000 by his employer free of cost.
H. He resides in the banglow of the company. He pays 51,000 p.a. as rent

for the house. A watchman and a cook have been provided by the
company who were paid 1,400 p.m. each.

I. He has been provided with a motor car of 1800 cc with a driver for his
official as well as personal use maintenance expenses for private use
are borne by Mr. Atish.

J. The Company Contributed 10% of salary to National Pension Scheme
and 70,000 in RPF.

K. Interest credited to RPF account was @13%p.a. amounted to 16,250/-
L. Professional tax paid 2,500.

Compute taxable income from salary of Mr. Atish for the Assessment year
2022-23.
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Q6) Mr. Suraj aged 65 years working as Manager in DPS Ltd, Gujarat, furnished
the following details of his income for the financial year 2021-22. Compute
his total taxable income and tax liability for the A.Y. 2022-23. [20]

1. Basic Salary Rs. 60,000 per month (Fixed)

2. Dearness Allowance 70% of salary (60% of that considered for
retirement benefits)

3. Transport Allowance Rs. 8,000 p.m.

4. House Rent Allowance Rs. 12,000 p.m. He pays Rs. 20,000 p.m. as
house rent for the house of his residence in Pune.

5. He gets Medical Allowance Rs. 9,000 p.m.

6. Company contributes 13% of basic salary to his RPF and equal amount
is contributed by him to this fund. Interest credited during the year on
balance of this Account @ 12% is Rs. 1,20,000.

7. He received Rs. 60,000 interest on Fixed Deposits in the bank and Rs.
12,000 as dividend received from other than domestic company.

8. He paid Rs. 16,000 as LIC premium for policy of Rs. 1,50,000.
Deposited Rs. 1,10,000 in PPF during F.Y.

9. Company has deducted Rs. 20,000 per quarter for four quarters as
Advance Tax from his salary, Rs. 2,500, as professional Tax and Rs.
12,000 p.m. as TDS.

10. Long Term Capital Gain 1,90,000.

11. He has Rented House at Nashik, let-out it @ Rs. 20,000 p.m. he has
paid Rs. 6,000 as Municipal Tax. He paid Rs. 1,60,000 as Housing
loan repayment which include Rs. 60,000 as interest on loan.

OR

A) Manoj has a property whose municipal valuation is Rs. 2,00,000 p.a.
The fair rent is Rs. 2,10,000 p.a. and the standard rent fixed by the
Rent Control Act is Rs. 2,20,000 p.a. The property was let out for a
rent of Rs. 20,000 p.m. throughout the previous year. Unrealised rent
was Rs. 20,000 and all conditions prescribed by Rule 4 are satisfied.
He paid municipal taxes @ 10% of municipal valuation. Interest on
borrowed capital was Rs. 40,000 for the year. Compute the income
from house property of Sunil for A.Y. 2022-23. [10]
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B) Mr. Ashish prepared the following Profit and Loss A/C of his Cloth
Shop for the year ended 31st March, 2022. Find out his Income for
Business from the AY 2022-23. [10]

Profit and Loss Account

(for the year ended 31/03/2022)

Particulars Rs. Particulars Rs.

Salaries and Wages 33,000 Gross Profit 3,34,725

Rent etc. 1,600 Gifts Received from

Relatives 275

Household Expenses 82,000

Income Tax 900

Advertisement 800

Postage Expenses 600

Gift to Relatives 900

Fire Insurance Premium 400

Life Insurance Premium 2,100

Bad Debts Reserve 800

Audit Fees 400

Net Profit 2,11,500

Total 3,35,000 Total 3,35,000


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SEAT No. :

Q1) Define Information System. Explain in detail the basic component of Information
Sytem. [20]

OR
State the meaning of E-Commerce. Explain in detail the Categories of
E-Commerce. [20]

Q2) What is Electornic Data Interchange (EDI)? Explain in detail the benefits of
Electronic Data Interchange. [20]

OR
Explain in detail the Sales procedures with reference to E-Commerce. [20]

Q3) State the meaning of Intellectual  Property Rights. Explain in detail the various
forms of Intellectual Property Rights. [20]

OR
a) Explain in detail the Offences and Penalties under Patent Act, 1970.[10]

b) Explain in detail the Appeals to Appellate Board under Patent Act, 1970.[10]

Q4) Define Trade Marks. Explain in detail the Procedure and effects of Registration
of Trade Marks. [20]

OR
Explain in detail the Regulation of Access to Biodiversity under Biodiversity
Act, 2002. [20]

Q5) Write short Notes on (Any two) [20]
a) Components of Internet
b) Supply Chain Management.
c) Applications for Patents.
d) Offences & Penalties relating of Trade Mark.


P.T.O.
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Total No. of Questions : 5]

[5956]-Ext.-3004
M.Com. - I (External)

 INFORMATION SYSTEM & E-COMMERCE PRACTICES AND
INTELLECTURAL PROPERTY LAWS  COMMERCIAL LAWS

AND PRACTICES
International Economics

(2015 Pattern) (Special Paper - I) (3143)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 100

gyMZm …- 1) gd© àíZ gmoS>dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4135

à.à.à.à.à.1) ‘m{hVr àUmbr Mr ì¶m»¶m Úm. ‘m{hVr àUmbr Mo ‘yb ŷV KQ>H$ g{dñVa ñnï> H$am. [20]
qH$dm

B©-H$m°‘g© Mm AW© gm§Jm. B©-H$m°‘g© À¶m loÊ¶m g{dñVa ñnï> H$am.

à.à.à.à.à.2) Bbo³Q´>m°{ZH$ S>oQ>m B§Q>aMoÝO (B©.S>r.Am¶.) åhUOo H$m¶? Bbo³Q´>m°{ZH$ S>oQ>m B§Q>aMoÝO Mo ’$m¶Xo g{dñVa
ñnï> H$am. [20]

qH$dm
B©-H$m°‘g© g§X^m©V {dH«$s à{H«$¶m g{dñVa ñnï> H$am.

à.à.à.à.à.3) ~m¡{ÕH$ g§nXm A{YH$mamMm AW© gm§Jm. ~m¡{ÕH$ g§nXm A{YH$mamMo {d{dY àH$ma g{dñVa ñnï> H$am.[20]
qH$dm

A) noQ>§Q> H$m¶Xm, 1970 A§VJ©V JwÝho Am{U X§S> g{dñVa ñnï> H$am. [10]
~) noQ>§Q> H$m¶Xm, 1970 A§VJ©V Ý¶mm¶mgZ ‘§S>imH$S>o Anrb H$aUo g{dñVa ñnï> H$am. [10]

à.à.à.à.à.4) ì¶mnmar {MÝhmMr ì¶m»¶m Úm. ì¶mnmar {MÝh Zm|XUrH$aUmMr à{H«$¶m Am{U n[aUm‘ g{dñVa ñnï> H$am.[20]
qH$dm

O¡d{d{dYVm H$m¶Xm, 2002 A§VJ©V O¡d{d{dYVon¶ªV àdoemMo {Z¶‘Z g{dñVa ñnï> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]
A) B§Q>aZoQ>Mo KQ>H$
~) nwadR>m gmIir ì¶dñWmnZ
H$) noQ>§Q²>g Mo AZwà¶moJ
S>) ì¶mnmar {MÝhm§g§X^m©V JwÝho Am{U X§S>





Total No. of Questions : 5]

[5956]- Ext-3005
M.Com. (Part- I) (External)

107 : ADVANCED COST ACCOUNTING & COST SYSTEM
(2015  Pattern) (Special Paper III)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Attempt all questions.
2) Figures to the right indicate full marks.
3) Use of  calculator is allowed.

PA-4136 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the Blanks (Any Five) [5]

a) The main objective of cost accounting is to provide information to
the management for

i) Planning ii) Policy making

iii) Decision making iv) Non of these

b) _______Is a technique of cost control

i) Marginal costing

ii) Job costing is a technique of cost control

iii) Standard costing

iv) Contract costing

c) Productivity can be increased by

i) By increasing the output from the same input

ii) By reducing the input for the same output

iii) Both (i) and (ii)

iv) None of the above

d) Reconciliation statement expense shown only in cost accounts
are_____

i) Added to financial profit

ii) Deducated from financial profit

iii) Ignored

iv) Deducted from costing profit

P.T.O.
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e) Marketing research is continuous and_________ process.
i) Knowledge ii) Systematic
iii) Specialised iv) Promotional

f) In a job cost system, cost are accumulated_________
i) On a  monthly basis
ii) By specific job
iii) By department of process
iv) By kind of material used

B) State the following  statements are true or false (Any Five) [5]
a) Cost Accounting helps in controlling cost.
b) Standard costing is same as estimated costing.
c) Contract costing is also known as terminal costing.
d) Earnings in the cost account increase as a result of the interest on

investment.
e) Productivity is the output produced by a unit of factor input during

a given span  of time.
f) Sometimes overhead charges are included in the cost price.

Q2) The net profit of X Co. Ltd. Appeared at Rs. 64, 377 as per financial records
for the year ended 31st March, 2014. The cost books, however, showed  a
net profit of Rs. 86,200 for same period m scrutiny of the figures form both
the sets of accounts revealed the following facts. [20]
                       Particulars Rs.
Works overhead under recovered in costs 1560
Administration Overhead over recovered in costs 850
Depreciation charged in financial accounts 5,600
Depreciation recovered in costs 6250
Interest on investments not included in costs 4000
Loss due to obsolescence charged in financial accounts 2,850
Income tax provided in financial accounts 20,150
Bank interest and transfer fees in financial books 375
Stores adjustments (Credit in financial books) 237
Loss due to depreciation in stock values 3,375
(Charged in financial accounts)

Prepare a statement showing the reconciliation between the figures of net
profit as per cost accounts and the figure of net profit shown in the financial
books.
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Q3) a) Explain different methods of costing. [10]

b) M/s Hindusthan Petro Ltd. showed a net loss of Rs. 205000 as per their
financial accounts for the year ended 31st March 2015. The cost accounts,
However, Disclosed a net loss of Rs. 140000 for the same period. The
following information was revealed as a result of the scrutiny  of the
figures of both the sets of books. [15]

                  Particulars Rs.

Factory overhead under- recovered 5000

Administration overhead over-recovered 3000

Depreciation charged in financial accounts 80000

Depreciation recovered in costs 85,000

Interest on investment not included in costs 7000

Income- Tax provided 80000

Transfer fees (In financial books) 3000

Stores adjustment (Credit in financial books)

Prepare a Memorandum Reconciliation Account.

Q4) a) What is Cost Accounting? Explain its objectives and advantages. [10]

b) Calculate productivity per machine hour form the following information.
[15]

Month Production(Units) Machine Hours (Used)

January 90000 9000

February 81000 9000

March 60000 12000
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5) Write short notes (Any Four): [20]

a) Explain The various Methods of Inventory.

b) Benefits of Value of Operation Costing.

c) Explain the Role of cost Accounting.

d) Explain the classification of labour.

e) Productivity.

f) Contract Costing.





Total No. of Questions : 5]

[5956]-Ext.-3006
M.com. - I (External)

 ADVANCED BANKING & FINANCE
115 :  Law & Practices of Banking
(2015 Pattern) (Special paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4137 [Total No. of Pages : 4

SEAT No. :

Q1) Explain the nature of relationship between banker and customer as debtor and
creditor. [20]

OR

Discuss in detail the changing role of RBI. [20]

Q2) Explain the following as definitions given  under the Negotiable Instrument
Act, 1881. [20]

a) Negotiable Instrument.

b) Holder.

c) Holder in due course.

d) Payment in due course.

OR

Explain in detail Banking Regulation Act, 1949. Explain Amendments of
Banking Regulations Act 1949 up to December 2012. [20]

Q3) Explain in detail the following definitions given under the Securitisation Act, 2002.
[20]

a) Bank.

b) Financial Institution.

c) Securitisation.

OR

P.T.O.
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Explain the following provisions of the Prevention of Money Laundering
Act, 2002. [20]

a) Offence of money laundering

b) Punishment for  money laundering.

c) Attachment

Q4) What do you mean by Merger and Acquisition? State any four cases of Merger
and Acquisition in banking sector of India. [20]

OR

What are the strategies adopted by banks to manage risks? [20]

Q5) Write short notes on Any two [20]

a) Termination of relationship between banker and customer.

b) Right of set off.

c) Winding up of banking company.

d) Development of Hi-tech Banking.


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Total No. of Questions : 5]

[5956]-Ext.-3006
M.com. - I (External)

 ADVANCED BANKING & FINANCE
115 :  Law & Practices of Banking
(2015 Pattern) (Special paper - I)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 100

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-4137

à.à.à.à.à.1) ~±H$a Am{U J«mhH$ ¶m§À¶mVrb F$UH$mo Am{U YZH$mo åhUyZ Agboë¶m g§~§YmMo ñdê$n ñnï> H$am.[20]

qH$dm

^maVr¶ [aPd© ~±Ho$À¶m ~XbË¶m ŷ{‘Ho$~Ôb g{dñVa MMm© H$am. [20]

à.à.à.à.à.2) MbZj‘ XñVEodO H$m¶Xm, 1881 A§VJ©V {Xboë¶m ì¶m»¶m åhUyZ Imbrb KQ>H$ ñnï> H$am. [20]

A) MbZj‘ XñVEodO

~) YmaH$

H$) hmoëS>a BZ Sy>¶-H$mog©

S>) no‘§oQ> BZ Sy>¶-H$mog©

qH$dm

~±qH$J {Z¶‘Z H$m¶Xm, 1949 g{dñVa ñnï> H$am. {S>g|~a 2012 n¶ªV ~±qH$J {Z¶‘Z H$m¶Xm, 1949
‘Yrb gwYmaUm§Mo ñnï>rH$aU Úm. [20]

à.à.à.à.à.3) {g³¶w[aQ>m¶PoeZ H$m¶Xm, 2002 A§VJ©V {Xboë¶m Imbrb ì¶m»¶m§Mo Vnerbdma dU©Z H$am. [20]

A) ~±H$

~) {dÎmr¶ g§ñWm

H$) {g³¶w[aQ>m¶PoeZ

qH$dm
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‘Zr bm±S>[a¨J à{V~§YH$ H$m¶Xm, 2002 À¶m Imbrb VaVwXr ñnï> H$am. [20]

A) ‘Zr bm±qS´>§JMm JwÝhm

~) ‘Zr bm±{S´>JgmR>r {ejm

H$) AQ>°M‘|Q>

à.à.à.à.à.4) {dbrZrH$aU Am{U A{YJ«hU åhUOo H$m¶? ̂ maVmVrb ~±qH$J joÌmVrb {d{bZrH$aU Am{U A{YJ«hUmMr
H$moUVrhr Mma CXmhaUo gm§Jm. [20]

qH$dm

OmoIr‘ ì¶dñWmnZmgmR>r ~±H$m§Zr H$moUË¶m ì¶whaMZm§Mm Adb§~ Ho$bobm Amho? [20]

à.à.à.à.à.5) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]

A) ~±H$a Am{U J«mhH$ ¶m§À¶mVrb g§~§Y g§nwï>mV AmUUo.

~) goQ>-Am°’$ Mm A{YH$ma

H$) ~±qH$J H§$nZr ~§X H$aUo

S>) hm¶-Q>oH$ ~±qH$JMm {dH$mg





Q1) The following is the Trail Balance of Shree Hospital, Pune as on 31st March
2022. Prepare Profit and Loss Account for the year ended 31st March 2022
and Balance Sheet as on that date. [20]

Trial Balance

Name of the Account Dr. (Rs.) Cr. (Rs.)

Machine & Equipment 50,000

Capital 2,50,000

Inventories (1.4.2021) 25,000

Building 1,50,000

Hospital Furniture 50,000

Accounts Receivable 37,500

Motor Van 1,00,000

Short Term Loans 50,000

Receipt for Bed, Consultancy etc. 25,000

Total No. of Questions : 6]

[Total No. of Pages : 14

[5956]-Ext.-3007
M.Com. (Part - I) (External)

104 : ADVANCED ACCOUNTING AND TAXATION
Specialized Areas in Accounting and Business Tax

Assessment and Planning
(Without GST)

(2015 Pattern) (Semester - II) (Special Paper - III) (Group - A)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.
3) Give working notes whenever necessary.
4) Use of simple calculator is allowed.

PA-4138

SEAT No. :

P.T.O.
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Purchases 12,500

Receipts for pathological Tests 6,000

Accounts Payable 25,000

Receipts for X-ray, Scanning etc. 17,500

Advance Received from Patients 7,500

Provision for Depreciation 12,500

Government Subsidy 50,000

Fees Received for Operations 27,500

Cash in Hand 1,250

Wages and Salaries 22,500

Fees Paid to Doctors :

General Practitioner 5,000

Child Specialist 1,250

Cardiologist 1,500

Gynecologist 1,250

Repairs & Renewals 7,000

Electricity Bill 5,000

Interest on Loans 1,250

4,71,000 4,71,000

Adjustments :

a) The stock of inventory on hand 31st March 2022 was Rs. 7,500.

b) Depreciation is to be provided as follows :

i) Building @20% p.a.

ii) Hospital Furniture @ 10% p.a.

iii) Machine and Equipment @7.5% p.a.

iv) Motor Van @10% p.a.

c) Fees was payable yet Rs. 500 to cardiologist and Rs. 500 to
Gynecologist.

d) Wages and Salaries are Outstanding Rs.2, 500.

OR
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The Mumbai Construction Company undertakes large contracts. The
following particulars relates to Contract No. 125 carried out during the year
ended 31st March 2022.

Rs.
Work certified 1,43,000
Work uncertified 3,400
Plant installed at site 11,300
Value of plant on 31st March 2022 8,200
Materials sent to site 64,500
Labour 54,800
Establishment Charges 3,250
Wages accrued on 31st March 2022 1,800
Direct Expenditure 2,400
Material on hand on 31st March 2022 1,400
Material returned to store 400
Direct expenditure accrued on 31st March 2022 200
Contract Price 2,00,000
Cash received from contractee 1,30,000
Prepare a contract account for the year ended 31st March 2022 and find out
the profit.

Q2) B Ltd. took over the business of A Ltd. as on 31st March 2022 on which
date its Balance Sheet stood as follows : [20]

Balance Sheet of A Ltd. as on 31st March 2022
Liabilities Rs. Assets Rs.

Share Capital Good will 37,500
1,500 Shares of Rs. 100 each 1,50,000 Freehold Property 1,12.500
6% Debentures of Rs. 100 each 75,000 Plant & Tools 62,250
Sundry Creditors 22,500 Stock 26,250
Reserve Fund 37,500 Bills Receivable 3,375
Profit & Loss A/c 15,000 Sundry Debtors 20,625

Cash at Bank 37,500
3,00,000 3,00,000

B Ltd. agreed to take the assets (exclusive of Cash and Goodwill) at 10%
less than the book values, to pay Rs. 56,250 for Goodwill and to take over
the Debentures. The purchase consideration was to be discharged by allotment
to A Ltd. of 1,125 shares of Rs. 100 each at a premium of Rs. 10 per share
and balance in cash. The cost of liquidation amounted to Rs. 2,250. You are
required to prepare:
a) Ledger Accounts in the books of A Ltd. and
b) Acquisition journal entries in the books of B Ltd.

OR
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The following is the trial balance and additional information of Hotel Nandini,
Nanded as on 31st March 2022.

Trial Balance as on 31st March 2022
Particulars Dr. Rs. Cr. Rs.

Share Capital
17,000 5% Preference Shares of Rs. 10 each 1,70,000
28,000 Equity Shares at Rs.l0 each 2,80,000
Purchases
Liquors 1,00,000
Provision & Stores 1,20,000
Sales
Food 1,60,000
Liquors 1,40,000
Income From Rooms 1,64,000
Miscellaneous Receipts 20,600
4% Mortgage Debentures 4,00,000
Premises 7,00,000
Furniture 1,14,000
Investment 1,04,000
Goodwill 2,20,000
Reserve 1,50,000
Last year Profit Balance 30,000
S. Creditors 80,000
Bills Payable 20,000
Debenture Interest 15,000
Wages & Salaries 1,00,000
Hotel Expenses 18,000
General & administration Exp. 59,000
Repair 4,350
Interim Dividend for Half Year 4,250
Stock 1.4.2021
Liquor 40,000
Provision & Store 10,400
Cash 2,600
Debtors 3.000

16,14,600 16,14,600
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Adjustments :
a) Closing stock Liquor Rs. 50,000, Provision Rs.30,000.
b) Depreciation on Furniture @ 5% p.a.
c) Outstanding wages Rs. 30,000.
d) Final Dividend declared 10% on Equity Share Capital.

Q3) Write Short Notes (Any Two) : [10]
a) Credit in case of inputs/supplies
b) Capital Goods
c) Log book under Transport Accounting
d) Non-banking Financial Companies

Q4) ABC Ltd., is an Indian company is engaged in manufacture of paints for the
year ending 31st March 2022. The Profit and Loss Account showed a net
profit of Rs. 15,00,000. This included the following debits to the Profit and
Loss Account : [20]
a) Dividend amounted to Rs. 3,00,000 paid to shareholders.
b) Interest amounting to Rs. 25,000 paid on the loan taken for the

repayment of the company’s income tax liability.
c) Interest amounting to Rs. 25,000 paid on the loan taken to make

donation to an approved charitable institution.
i) Rs. 1,80,000 spent by managing director on his visit to :

1) Canada to buy machinery and finalize a collaboration
agreement for a new independent undertaking proposed to
be setup cycle tyre factory Rs. 60,000.

2) USA to study export market for paints Rs. 1,20,000.
ii) Managing director’s wife accompanied her husband Rs. 30,000

was contributed by the company towards her foreign trip expenses
and the German Collaborator paid Rs. 25,000 to her towards
expenses.

d) Company incurred expenditure of Rs. 2,00,000 as follows :
i) Advertisement in Newspaper Rs. 80,000.
ii) Advertisement in Souvenir of political party Rs. 40,000.
iii) Guest house at factory Rs. 80,000.

e) Penalty of Rs. 50,000 for importing raw material in contravention of
import regulations. Compute the taxable income and tax liability of the
company for the Assessment year 2022-23

OR
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Green field cooperative society is engaged in agree produce processing and
its marketing to its members. It carries its activities without the aid of power.
It furnishes the following details for the year 2021-22 from which compute
the taxable income for the assessment year 2022-23.

a) Income from processing of agricultural produce Rs. 38,500.

b) Income from marketing of agricultural produce Rs. 12,000.

c) Dividend from other cooperative society Rs. 41,400.

d) Income from letting of godowns Rs. 24,000.

e) Income from commission Rs. 31,000.

f) Profits and Gains from other business Rs. 75,000.

Q5) Devidas Charitable Trust submits the particulars of its Receipts and Payments
during the previous year 2021-22 as below : [20]

a) Income from Property held under trust for charitable purposes
Rs. 20,00,000.

b) Voluntary contribution (Rs. 5,00,000 will form part of Corpus)
Rs. 15,00,000.

c) Donations paid to Charitable School Rs. 6,00,000.

d) Scholarship paid to slum Students Rs. 4,00,000.

e) Amount spent on holding free Eye checkup camps in Urban slums
Rs. 3,00,000.

f) Amount set apart for setting up an old age home by March 2024
Rs. 10,00,000.

Compute the total income and Tax liability of the trust for the assessment
year 2022-23.

OR

a) PK Ltd submits details for the year 2021-22 relevant to the assessment
year 2022-23. Calculate amount of advance tax payable on respective
due date by the company. [10]

i) TDS at source by the suppliers and others Rs. 1,90,000.

ii) Income tax refund received Rs. 3,00,000.

iii) Disputed tax liability of Rs. 9,00,000 paid for the previous year
2020-21.

iv) Expected turnover Rs. 1,80,00,000 and Net Profit as a percentage
of sales 12.25%.
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b) On 12th February 2022 Mrs. Deepika got a refund of Rs. 15,000 for
the A.Y. 2022-23. Tax due for the said assessment year was
Rs. 1,78,000. Advance tax and Income tax deducted at source
amounted in all to Rs. 1,93,000. The return for the A.Y. 2022-23 was
filed on 30th July 2021. Mrs. Deepika had proposed to complain to the
Income Tax Officer regarding non-receipt of interest on refund of income
tax of Rs. 15,000. As a tax consultant what will be your advice to her?

[10]

Q6) Write Short Notes (Any Two) : [10]

a) Tax Management

b) Classification of goods

c) Types of Assessment

d) Incidence of Wealth Tax





Total No. of Questions : 6]
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M.Com. (Part - I) (External)

104 : ADVANCED ACCOUNTING AND TAXATION
Specialized Areas in Accounting and Business Tax

Assessment and Planning (Revised from 2018)
(2015 Pattern) (Semester - II) (Special Paper - III) (Group - A)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to right indicate full marks.
3) Give working notes whenever necessary.
4) Use of simple calculator is allowed.

PA-4138

Q1) The following is the Trail Balance of Shree Hospital, Pune as on 31st March
2022. Prepare Profit and Loss Account for the year ended 31st March 2022
and Balance Sheet as on that date. [20]

Trial Balance

Name of the Account Dr. (Rs.) Cr. (Rs.)

Machine & Equipment 50,000

Capital 2,50,000

Inventories (1.4.2021) 25,000

Building 1,50,000

Hospital Furniture 50,000

Accounts Receivable 37,500

Motor Van 1,00,000

Short Term Loans 50,000

Receipt for Bed, Consultancy etc. 25,000

[5956]-3007 8
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Purchases 12,500

Receipts for pathological Tests 6,000

Accounts Payable 25,000

Receipts for X-ray, Scanning etc. 17,500

Advance Received from Patients 7,500

Provision for Depreciation 12,500

Government Subsidy 50,000

Fees Received for Operations 27,500

Cash in Hand 1,250

Wages and Salaries 22,500

Fees Paid to Doctors :

General Practitioner 5,000

Child Specialist 1,250

Cardiologist 1,500

Gynecologist 1,250

Repairs & Renewals 7,000

Electricity Bill 5,000

Interest on Loans 1,250

4,71,000 4,71,000

Adjustments :

a) The stock of inventory on hand 31st March 2022 was Rs. 7,500.

b) Depreciation is to be provided as follows :

i) Building @20% p.a.

ii) Hospital Furniture @ 10% p.a.

iii) Machine and Equipment @75% p.a.

iv) Motor Van @10% p.a.

c) Fees was payable yet Rs. 500 to cardiologist and Rs. 500 to
Gynecologist.

d) Wages and Salaries are Outstanding Rs.2, 500.

OR
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The Mumbai Construction Company undertakes large contracts. The
following particulars relates to Contract No. 125 carried out during the year
ended 31st March 2022.

Rs.
Work certified 1,43,000
Work uncertified 3,400
Plant installed at site 11,300
Value of plant on 31st March 2022 8,200
Materials sent to site 64,500
Labour 54,800
Establishment Charges 3,250
Wages accrued on 31st March 2022 1,800
Direct Expenditure 2,400
Material on hand on 31st March 2022 1,400
Material returned to store 400
Direct expenditure accrued on 31st March 2022 200
Contract Price 2,00,000
Cash received from contractee 1,30,000
Prepare a contract account for the year ended 31st March 2022 and find out
the profit.

Q2) B Ltd. took over the business of A Ltd. as on 31st March 2022 on which
date its Balance Sheet stood as follows : [20]

Balance Sheet of A Ltd. as on 31st March 2022
Liabilities Rs. Assets Rs.

Share Capital Good will 37,500
1,500 Shares of Rs. 100 each 1,50,000 Freehold Property 1,12.500
6% Debentures of Rs. 100 each 75,000 Plant & Tools 62,250
Sundry Creditors 22,500 Stock 26,250
Reserve Fund 37,500 Bills Receivable 3,375
Profit & Loss A/c 15,000 Sundry Debtors 20,625

Cash at Bank 37,500
3,00,000 3,00,000

B Ltd. agreed to take the assets (exclusive of Cash and Goodwill) at 10%
less than the book values, to pay Rs. 56,250 for Goodwill and to take over
the Debentures. The purchase consideration was to be discharged by allotment
to A Ltd. of 1,125 shares of Rs. 100 each at a premium of Rs. 10 per share
and balance in cash. The cost of liquidation amounted to Rs. 2,250. You are
required to prepare:
a) Ledger Accounts in the books of A Ltd. and
b) Acquisition journal entries in the books of B Ltd.

OR
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The following is the trial balance and additional information of Hotel Nandini,
Nanded as on 31st March 2022.

Trial Balance as on 31st March 2022
Particulars Dr. Rs. Cr. Rs.

Share Capital
17,000 5% Preference Shares of Rs. 10 each 1,70,000
28,000 Equity Shares at Rs.l0 each 2,80,000
Purchases
Liquors 1,00,000
Provision & Stores 1,20,000
Sales
Food 1,60,000
Liquors 1,40,000
Income From Rooms 1,64,000
Miscellaneous Receipts 20,600
4% Mortgage Debentures 4,00,000
Premises 7,00,000
Furniture 1,14,000
Investment 1,04,000
Goodwill 2,20,000
Reserve 1,50,000
Last year Profit Balance 30,000
S. Creditors 80,000
Bills Payable 20,000
Debenture Interest 15,000
Wages & Salaries 1,00,000
Hotel Expenses 18,000
General & administration Exp. 59,000
Repair 4,350
Interim Dividend for Half Year 4,250
Stock 1.4.2021
Liquor 40,000
Provision & Store 10,400
Cash 2,600
Debtors 3.000

16,14,600 16,14,600
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Adjustments :
a) Closing stock Liquor Rs. 50,000, Provision Rs.30,000.
b) Depreciation on Furniture @ 5% p.a.
c) Outstanding wages Rs. 30,000.
d) Final Dividend declared 10% on Equity Share Capital.

Q3) Write Short Notes (Any Two) : [10]
a) Credit in case of inputs/supplies
b) Capital Goods
c) Log book under Transport Accounting
d) Non-banking Financial Companies

Q4) ABC Ltd., is an Indian company is engaged in manufacture of paints for the
year ending 31st March 2022. The Profit and Loss Account showed a net
profit of Rs. 15,00,000. This included the following debits to the Profit and
Loss Account : [20]
a) Dividend amounted to Rs. 3,00,000 paid to shareholders.
b) Interest amounting to Rs. 25,000 paid on the loan taken for the

repayment of the company’s income tax liability.
c) Interest amounting to Rs. 25,000 paid on the loan taken to make

donation to an approved charitable institution.
i) Rs. 1,80,000 spent by managing director on his visit to :

1) Canada to buy machinery and finalize a collaboration
agreement for a new independent undertaking proposed to
be setup cycle tyre factory Rs. 60,000.

2) USA to study export market for paints Rs. 1,20,000.
ii) Managing director’s wife accompanied her husband Rs. 30,000

was contributed by the company towards her foreign trip expenses
and the German Collaborator paid Rs. 25,000 to her towards
expenses.

d) Company incurred expenditure of Rs. 2,00,000 as follows :
i) Advertisement in Newspaper Rs. 80,000.
ii) Advertisement in Souvenir of political party Rs. 40,000.
iii) Guest house at factory Rs. 80,000.

e) Penalty of Rs. 50,000 for importing raw material in contravention of
import regulations. Compute the taxable income and tax liability of the
company for the Assessment year 2022-23

OR
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Green field cooperative society is engaged in agree produce processing and
its marketing to its members. It carries its activities without the aid of power.
It furnishes the following details for the year 2021-22 from which compute
the taxable income for the assessment year 2022-23.

a) Income from processing of agricultural produce Rs. 38,500.

b) Income from marketing of agricultural produce Rs. 12,000.

c) Dividend from other cooperative society Rs. 41,400.

d) Income from letting of godowns Rs. 24,000.

e) Income from commission Rs. 31,000.

f) Profits and Gains from other business Rs. 75,000.

Q5) Devidas Charitable Trust submits the particulars of its Receipts and Payments
during the previous year 2021-22 as below : [20]

a) Income from Property held under trust for charitable purposes
Rs. 20,00,000.

b) Voluntary contribution (Rs. 5,00,000 will form part of Corpus)
Rs. 15,00,000.

c) Donations paid to Charitable School Rs. 6,00,000.

d) Scholarship paid to slum Students Rs. 4,00,000.

e) Amount spent on holding free Eye checkup camps in Urban slums
Rs. 3,00,000.

f) Amount set apart for setting up an old age home by March 2024
Rs. 10,00,000.

Compute the total income and Tax liability of the trust for the assessment
year 2022-23.

OR

a) PK Ltd submits details for the year 2021-22 relevant to the assessment
year 2022-23. Calculate amount of advance tax payable on respective
due date by the company. [10]

i) TDS at source by the suppliers and others Rs. 1,90,000.

ii) Income tax refund received Rs. 3,00,000.

iii) Disputed tax liability of Rs. 9,00,000 paid for the previous year
2020-21.

iv) Expected turnover Rs. 1,80,00,000 and Net Profit as a percentage
of sales 12.25%.
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b) On 12th February 2022 Mrs. Deepika got a refund of Rs. 15,000 for
the A.Y. 2022-23. Tax due for the said assessment year was
Rs. 1,78,000. Advance tax and Income tax deducted at source
amounted in all to Rs. 1,93,000. The return for the A.Y. 2022-23 was
filed on 30th July 2021. Mrs. Deepika had proposed to complain to the
Income Tax Officer regarding non-receipt of interest on refund of income
tax of Rs. 15,000. As a tax consultant what will be your advice to her?

[10]

Q6) Write Short Notes (Any Two) : [10]

a) Tax Management

b) Taxes under GST

c) Negative list for input tax credit

d) Registration Number Format





Q1) Explain the following terms related to E-security : [20]

a) Hackers and crackers

b) Computer viruses

c) Spam

d) Secure E-Transactions

OR

Explain E-commerce security issues and risk involved in E-commerce.

Q2) Explain computer viruses and security policy. [20]

OR

State provisions relating to Digital signature certificates as per sections
35 to 39 of IT Act 2002.

Q3) Explain the meaning, scope, characteristics and objective of copyright Act,
1957. [20]

OR

Define the term 'New Plant Variety'. State the provisions regarding period
of validity of Registration, Surrender and Revocation of certificate.

Total No. of Questions : 5]

[Total No. of Pages : 4
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Q4) Who may apply for Registration as a 'Registration user' of Design? What
are the conditions for registration as a registered user? [20]

Q5) Write Short Notes on (any two) : [20]

a) Types of computer crime

b) Digital Identity and Digital Signature

c) Powers of Central Government

d) Rights and Privileges of Breeders and Researchers.


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(_amR>r ê$nm§Va)
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gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.
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3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4139

àíZ àíZ àíZ àíZ àíZ 1) B©-gwajm g§X^m©V nwT>rb g§km ñnï> H$am. [20]

A) h°H$g© Am{U H«°$H$g©

~) g§JUH$ ìhm`ag

H$) ñn°_

S>) gwa{jV B©-ì`dhma

qH$dm

B©-H$m°_g© {gŠ ẁ[aQ>rÀ`m à_wI g_ñ`m Am{U YmoHo$ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) ""g§JUH$ ìhm`ag Am{U gwajm àUmbr'' (YmoaU) ñnï> H$am. [20]

qH$dm

Information Technology Act, 2002 (_m{hVr V§ÌkmZ H$m`Xm, 2002) (H$b_
35-39) _Yrb g§JUH$s` ñdmjar à_mUnÌmÀ`m VaVyXr ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) "_wÐU h¸$' H$m`XçmMo ñdén, ì`már, d¡{eîQ>ço Am{U CX²Xoe ñnï> H$am. [20]

qH$dm

""ZdrZ amono Z_wZo'' ̀ m g§kmMr ì`m»`m Xçm. amono Z_wZo Am{U eoVH$è`m§Mo h¸$ g§ajU H$m`XçmZwgma
d¡YVm Zm|XUr H$mbmdYr d à_mUnÌmMr Zm|X aX²X H$aUo d naV KoUo `m~m~VÀ`m VaVwXr ñnï>
H$am.

àíZ àíZ àíZ àíZ àíZ 4) ""AmamIS>çmMm Zm|XUrH¥$V dmnaH$Vm©'' `m H$[aVm H$moU AO© H$é eH$Vmo? Zm|XUrH¥$V dmnaH$Vm©
åhUyZ Zm|XUrgmR>r H$moUË`m AQ>r AmhoV? [20]

àíZ àíZ àíZ àíZ àíZ 5) Q>rnm {bhm. (H$moUVohr XmoZ) : [20]

A) g§JUH$s` JwÝh`m§Mo àH$ma

~) g§JUH$s` AmoiI Am{U g§JUH$s` ñdmjar

H$) H|$Ð gaH$maMo A{YH$ma

S>) hŠH$ Am{U {ZnOH$ Am{U g§emoYH$mMo {deofm{YH$ma


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Q1) Explain the term Responsibility Accounting. Explain it’s principles, advantages
and limitations. [20]

OR

Explain in detail the concept of Activity Based Costing; and state it’s advantages
and limitations.

Q2) The following information of PQR Company is given for two years; [20]

Particulars 2020 2021

Sales 1,50,000 2,00,000

Profit 10,000 18,000

You are require to Calculate :

a) P/V Ratio.

b) Break Even Point.

c) Fixed Cost.

d) Margin of safety for two periods.

SEAT No. :

P.T.O.
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Q3) Explain the term Budgetary control. Explain the process of preparing Budgets.
[20]

OR
a) Explain the concept of Inter-firm comparison and state it’s advantages.

[10]
b) Explain the concept of Uniform Costing and it’s application. [10]

Q4) From the following information you are require to Calculate [20]
a) Material Cost Variance,
b) Material Price Variance,
c) Material Quantity Variance,
d) Material Mix Variance
e) Verify your results.

Standard Actual
Material Qty Rate Amount Qty Rate Amount

A 27,000 2.60 70,200 28,000 2.20 61,600
B 18,000 1.70 30,600 20,000 1.80 36,000

Total 45,000  1,00,800 48,000 97,600

OR
The expenses budgeted for the production at 100% capacity of Bhima Ltd.
Badlapur are given below :
Particulars Amount (Rs.)
Direct material 6,00,000
Variable Works Overheads 2,00,000
Basic Wages 2,00,000
Fixed Production Overheads 80,000
Productive expenses (Variable) 40,000
Administrative Expenses (Fixed) 40,000
Selling Overheads (10% Fixed) 1,20,000
Distribution on Cost (80% Variable) 60,000
You are require to prepare Flexible Budget at 60% ; 80% and 100% capacity.



Q5) Write short notes (any 2) : [20]

a) Cash Budget.

b) Break Even Point.

c) Pre requisite of Inter-Firm comparison.

d) Controllable and non-controllable cost.



[5956]-Ext.-3009   3
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Q1) Describe in detail various regulations of the Reserve Bank of India regarding
licensing of banks and opening of new banks. [20]

OR
Explain in detail the role of the Reserve Bank of India in rural credit. [20]

Q2) Define monetary policy. Describe in detail various objectives of monetary
policy. [20]

OR
State quantitative and qualitative instruments of monetary policy. [20]

Q3) Define central banking. Explain in detail origin and evolution of central banking.
[20]

OR
Write in detail various recommendations of the working group of Dr. Y.V.
Reddy in 1998 regarding money supply. [20]

Q4) Describe in detail rights of the Reserve Bank of India regarding control over
management and subsidiaries of commerical banks. [20]

OR
Write in detail regulatory framework of non-banking financial companies.[20]

Q5) Write short notes on (Any Two): [20]
a) RBI as a custodian of foreign reserves.
b) Pre-shipment credit.
c) Board for financial supervision.
d) Money supply measures.


P.T.O.



2[5956]-Ext.-3010

Total No. of Questions : 5]
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116 : ADVANCED BANKING AND FINANCE
Central Banking and Monetary Policy
(2015 Pattern) (Special Paper - II)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 100

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) gd© àíZm§Zm g‘mZ JwU AmhoV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

PA-4140

à.à.à.à.à.1) ~±H$mZm nadmZm d ZdrZ ~±H$ CKS>Uo ¶mg§X^m©V ^maVr¶ [aPìh© ~±Ho$À¶m {d{dY {Z¶‘Zm§Mo g{dñVa
dU©Z H$am. [20]

qH$dm
J«m‘rU nVnyadR>²¶mVrb ^maVr¶ [aPìh© ~±Ho$Mr ŷ{‘H$m g{dñVa ñnï H$am.

à.à.à.à.à.2) MbZ{df¶H$ YmoaUmMr ì¶m»¶m Úm. MbZ{df¶H$ YmoaUmÀ¶m {d{dY C{Ôï>m§Mo g{dñVa dU©Z H$am.[20]
qH$dm

MbZ{df¶H$ YmoaUm§Mr g§»¶mË‘H$ Am{U JwUmË‘H$ gmYZo Z‘yX H$am.

à.à.à.à.à.3) ‘Ü¶dVu ~±H$ ì¶dgm¶mMr ì¶m»¶m Úm. ‘Ü¶dVu ~±H$ ì¶dgm¶mMm CX¶ Am{U CËH«$m§Vr g{dñVa ñnï>
H$am. [20]

qH$dm
Ðì¶ nyadR>m g§X^m©Vrb 1998 ‘Yrb S>m°. dm¶. ìhr. aoS²>S>rÀ¶m H$m¶©H$mar JQ>mÀ¶m {d{dY {e’$maer
g{dñVa g{dñVa {bhm.

à.à.à.à.à.4) ì¶mnmar ~±H$m§À¶m ì¶dñWmnZmdarb {Z¶§ÌU d ghmæ¶H$mar ~±H$ g§X^m©Vrb ^maVr¶ [aPìh© ~±H$oÀ¶m
A{YH$mam§Mo g{dñVa dU©Z H$am. [20]

qH$dm
~±Ho$Îma {dÎmr¶ H§$nZrMr {Z¶m‘H$ Mm¡H$Q> g{dñVa {bhm.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]
A) ^maVr¶ [aPìh© ~±H$ naXoer amIrd {ZYrMr ajH$
~) àr-ern‘oÝQ> Ho«o$S>rQ>
H$) {dÎmr¶ n¶©dojU ‘§S>i
S>) n¡emMr ‘mnZo


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Q1) Define Business Finance. Explain nature and importance of Business Finance.
[20]

OR
What is Business Finance? Explain public Sector sources of Business Finance.

Q2) What is Stock Exchange? Explain functions of stock exchange. [20]
OR

What is Foreign Institutional Investment? Explain need and limitations of
Foreign Institutional Investment.

Q3) What is Credit Rating? Explain need and methodology of credit rating. [20]
OR

What is a Listing Regulation? Explain advantages of Listing Regulation.

Q4) Explain background of establishment of Securities & Exchange Board of
India. [20]

OR
What is Mutual Fund? Explain types of mutual fund.

Q5) Write short notes on (Any Two): [20]
a) Project appraisal.
b) Need of SEBI.
c) E-Broking.
d) Foreign Direct Investment.


P.T.O.
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Total No. of Questions : 5]

[5956]Ext.-4001
M.Com. (Part - II) (External)
201 : BUSINESS FINANCE

(2015 Pattern)

(‘amR>r ê$nm§Va)
doi : 3 Vmg] [ EHy$U JwU : 100

gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) ì¶mdgm{¶H$ {dÎm nwadR>²¶mMr ì¶m»¶m Úm. ì¶mdgm{¶H$ {dÎm nwadR>²¶mMo ñdê$n d ‘hÎd ñnîQ> H$am.[20]
qH$dm

ì¶mdgm{¶H$ {dÎm nwadR>m åhUOo H$m¶? ì¶mdgm{¶H$ {dÎm nwadR>²¶mMo gmd©O{ZH$ joÌ òmoV ñnîQ> H$am.

à.à.à.à.à.2) amoIo ~mOma åhUOo H$m¶? amoIo ~mOmamMr H$m¶} ñnîQ> H$am. [20]
qH$dm

naH$s¶ g§ñWmË‘H$ Jw§VdUyH$ åhUOo H$m¶? naH$s¶ g§ñWmË‘H$ Jw§VdUyH$sMr JaO Am{U ‘¶m©Xm ñnîQ>
H$am.

à.à.à.à.à.3) nV ‘wë¶m§H$Z åhUOo H$m¶? nV ‘wë¶m§H$ZmMr JaO Am{U nÕVr ñnîQ> H$am. [20]
qH$dm

gwMr {Z¶‘Z åhUOo H$m¶? gwMr {Z¶‘ZmMo ’$m¶Xo ñnîQ> H$am.

à.à.à.à.à.4) go~rÀ¶m ñWmnZoMr nmœ©̂ w‘r ñnîQ> H$am. [20]
qH$dm

nañna {ZYr åhUOo H$m¶? nañna {ZYrMo àH$ma ñnîQ> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUVohr XmoZ) [20]
A) àH$ën ‘wë¶‘mnZ
~) go~rMr JaO
H$) B©-~«moH$s¨J
S>) naH$s¶ àË¶j Jw§VdUyH$



PA-4141



Q1) What is Industrial Finance? Explain the Internal Sources of Industrial
Finance. [20]

OR

What is mean by Globalization? What are effects of Globalization on Indian
Industry.

Q2) Explain the Export and Import policy in India since - 1991. [20]

OR

Explain National Environmental Policy (2006) of India.

Q3) Explain the growth and present position of IT Industries in India. [20]

OR

Explain the causes of Industrial disputes.

Total No. of Questions : 5]

[Total No. of Pages : 4
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Q4) Explain the need and types of Industrial Finance. [20]

OR

Explain the Environmental problems arise by the Industrial Development.

Q5) Write Short Notes (any two) : [20]

a) Special Economic Zones (SEZ).

b) Concept of Liberalization.

c) Prospects of IT Industry.

d) Labour policy reforms.


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doi : 3 Vmg     ] [ EHy$U JwU : 100
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1) gd© àíZ A{Zdm ©̀ Amho.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4142

àíZ àíZ àíZ àíZ àíZ 1) Am¡Úmo{JH$ {dÎmnwadR>m åhUOo H$m`? Am¡Úmo{JH$ {dÎmnwadR>çmMo A§VJ©V ómoV ñnï> H$am. [20]

qH$dm

OmJ{VH$sH$aU åhUOo H$m`? OmJVrH$sH$aUmMo ^maVr` CÚmoJmdarb n[aUm_ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) ^maVmMo 1991 nmgyZMo Am`mV-{Z`m©V YmoaU ñnï> H$am. [20]

qH$dm

^maVmMo amï´>r` n`m©daU YmoaU (2006) ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) ^maVmVrb _m{hVr-V§ÌkmZ CÚmoJm§Mr d¥Õr Am{U gKpñWVr ñnï> H$am. [20]

qH$dm

^maVmVrb Am¡Úmo{JH$ H$bhmMr H$maUo ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Am¡Úmo{JH$ {dÎmnwadR>çmMr JaO Am{U àH$ma ñnï> H$am. [20]

qH$dm

Am¡Úmo{JH$ {dH$mgm_wio {Z_m©U hmoUmè`m n`m©daUr` g_ñ`m ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 5) WmoS>Š`mV {Q>nm {bhm (H$moUË`mhr XmoZ) [20]

A) {deof Am{W©H$ joÌ (goP)

~) CXmarH$aUmMr g§H$ënZm

H$) _m{hVr V§ÌkmZ CÚmoJm§Mo ^{dVì`

S>) H$m_Jma YmoaUmVrb gwYmaUm


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2) All questions carry equal marks.

PA-4143 [Total No. of Pages : 2

SEAT No. :

Q1) Explain the various aspects of Audit under computerized Information System
(CIS) Environment. [20]

OR

What are the capital profits? Are such profits available for distribution as
dividends? Discuss.

Q2) What do you mean by ‘Internal control’? Explain the significance and evaluation
of Internal control procedures. [20]

OR

What do you mean by ‘Routine checking’ and ‘Vaeching’? How will you
vaech the sales Book?

Q3) What do you mean by Internal Audit? What should be the main funcions of an
Internal Auditor? Under whom should he work and to whom report his findings?
What powers should he have for the successful performance of his duties?[20]

OR

What special points would you bear in mind besides the normal audit routine,
while conducting the audit of a Bank.

P.T.O.
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Q4) Explain  the provisims of  Tax Audit under section 44 AB of Income Tax Act.
[20]

OR

Discuss the special points to which you would give attention while auditing
the accounts of Educational Institutions.

Q5) Write short notes (on any four) [20]

a) Role of Auditing and Assurance standard Board in India.

b) Corporate Governance.

c) Special aspects of Computerized Information System (CIS) Audit
Environment.

d) Contents of the audit report of cooperative society.

e) Special points taken into consideration in Audit of Hospital.

f) Duties and powers of the comptroller and Auditor General of India.





Q1) What is mean by Verification and Valuation? How will you verify the Fixed
Assets discuss in detail. [20]

OR
Distinguish Between Audit and Investigation. State the principles of
Investigation.

Q2) What do you mean by Internal Control? Explain the significance and evaluation
of internal control procedure. [20]

OR
Explain the preliminaries to the audit of limited company

Q3) What is Internal Audit? State its nature and scope. [20]
OR

Explain the long form bank audit report.

Q4) Discuss special points to which you would give attention while auditing the
Accounts of Charitable Trust. [20]

OR
What is Corporate Governance? Explain the verification of compliance of
Corporate Governance.

Total No. of Questions : 5]

[Total No. of Pages : 2

[5956]Ext.-4003A
M.Com. (Part-II) (For External)

203 : ADVANCED AUDITING AND SPECIALISED AREAS
IN AUDITING
(2015 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) All questions carry equal marks.

PA-4248
SEAT No. :

P.T.O.
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Q5) Write Short Notes (Any Three) [20]
a) Audit report of Co-operative Society.
b) Role of Auditing and Assurance Standard
c) Internal Audit Report
d) Public Accounts Committee
e) Audit of Local Bodies
f) Tax Audit u/s 44AB of Income Tax Act


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Total No. of Questions : 5]

[5956] Ext.- 4004
M.Com. (Part- II) (External)

Advanced Cost Accounting  and Cost System
207 : COST AND MANAGEMENT AUDIT

(2015 Pattern) (Semester - III)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indiate full makrs.

PA-4144 [Total No. of Pages : 2

SEAT No. :

Q1) Explain the term Cost Audit. State the objects and advantages of Cost Audit.
[20]

OR

Explain the term Management Audit. State the organizational needs for
Management Audit.

Q2) What is Cost Auditor? State the Appointment, Rights and Responsibilities of
Cost Auditor. [20]

OR

Explain in  detail Cost Audit Report.

Q3) What is Audit Programme state its Advantages and also explain the Steps in
preparation of Cost Audit Programme. [20]

OR

How the Cost Auditor evaluate the Internal Control System and state the term
Audit Notes.

P.T.O.
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Q4) Explain  in detail the Audit of Management Process. [20]
OR

Explain in detail Social Audit of Business Enterprises.

Q5) Write short notes (Any Four) [20]

a) Efficiency Audit

b) Proprietary Audit

c) MIS

d) System Audit

e) Audit of Special Responsibility of Management.

f) Audit Working Paper





Total No. of Questions : 6]

[5956]-Ext.-4005
M.Com. - II (External)

BUSINESS ADMINISTRATION
213 : Human Resource Management and Organisational Behavior

(2015 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Section I and II should be answered in the same answer book.

PA-4145 [Total No. of Pages : 4

SEAT No. :

SECTION- I

(Organisational Behavior)

Q1) Definition of organizational behavior? Explain the theoretical and conceptual
frame works for the study of organizational behavior. [15]

OR

Define the term organizational culture. Discuss how culture can be creating
and maintaining in an organization.

Q2) Explain the details types of motives. [15]

OR

Explain the details groups cohesiveness and team building.

Q3) Write short notes (Any Two) [20]

a) Types of teams

b) Models of organizational behavior

c) Virtual design

d) Job satisfaction
P.T.O.
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SECTION- II
(Human Resource Management)

Q4) Explain the employee leasing and global sourcing of labour in detail. [15]

OR

Define manpower planning. Explain in detail objectives of manpower planning.

Q5) What is performance appraisal? Explain the details ethics and errors of
performance appraisal. [15]

OR

Definition of training. Explain the process and methodology of training.

Q6) Write short notes (Any Two) [20]

a) Human recourse audit

b) VRS

c) Lay off employees

d) Job enrichment


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Total No. of Questions : 6]

[5956]-Ext.-4005
M.Com. - II (External)

BUSINESS ADMINISTRATION
213 : Human Resource Management and Organisational Behavior

(2015 Pattern)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 100

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.
2) {d^mJ I Am{U II Mr CÎmao EH$mM CÎmanwpñVHo$V ÚmdrV.

PA-4145

SECTION- I

(Organisational Behavior)

à.à.à.à.à.1) g§KQ>ZmË‘H$ dV©ZmMr ì¶m»¶m gm§Jm. g§KQ>ZmË‘H$ dV©ZmÀ¶m Aä¶mgmÀ¶m g¡Õm§{VH$ d g§H$ënZmË‘H$
AmamIS>m ñnï> H$am. [15]

qH$dm

g§KQ>ZmË‘H$ g§ñH¥$Vr ¶m g§H$ënZoMr ì¶m»¶m H$am. EImÚm g§KQ>ZmË‘H$ g§ñH¥$Vr H$er V¶ma Ho$br OmD$
eH$Vo Am{U H$er {Q>H$dyZ R>odVm ¶oB©b ¶mda MMm© H$am.

à.à.à.à.à.2) no«aUm§Mo àH$ma g{dñVa ñnï> H$am. [15]

qH$dm

g‘yh gm‘§Oñ¶ Am{U g§K ~m§YUr g{dñVa ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]

A) g§K àH$ma

~) g§KQ>ZmË‘H$ dV©ZmMr àmê$no

H$) Am^mgr {S>PmB©Z

S>) H$m¶©g‘mYmZ
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SECTION- II

(Human Resource Management)

à.à.à.à.à.4) H$‘©Mmè¶mMr Zo{‘VrH$ {Z¶wº$s Am{U OmJ{VH$ ñÌmoV g{dñVa ñnï> H$am. [15]

qH$dm
‘Zwî¶~i {Z¶moOZmMr ì¶m»¶m gm§Jm. ‘Zwî¶~i {Z¶moOZmMo CÕoe g{dñVa ñnï> H$am.

à.à.à.à.à.5) H$m¶©j‘Vm ‘yë¶‘mnZ åhUOo H$m¶? H$m¶©j‘Vm ‘yë¶‘mnZmMo Zr{V‘yë¶o Am{U MwH$m g{dñVa ñnï> H$am.
[15]

qH$dm
à{ejUmMr ì¶m»¶m Úm. à{ejUmMr à{H«$¶m Am{U H$m¶©nÕVr g{dñVa ñnï> H$am.

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]

A) ‘mZdr g§gmYZ A§Ho$jU
~) ñdoN>{Zd¥Îmr
H$) H$m‘Jma H$nmV
S>) H$m¶© g‘¥Õr





Total No. of Questions : 5]

[5956]-Ext.-4006
M.Com. - II (External)

 215 : ADVANCED BANKING AND FINANCE
Foreign Exchange International Finance

(2015 Pattern) (Group - G) (Special Paper - III)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PA-4146 [Total No. of Pages : 2

SEAT No. :

Q1) What is International Money Market? Elaborate the development of Euro Dollar
Market. [20]

OR
What do mean by foreign exchange market? State various participants in
foreign exchange market.

Q2) What is International Debt Market? Explain the various instruments in
International Debt Market. [20]

OR
Explain the role of Reserve Bank of India in foreign exchange market.

Q3) Explain the following:
a) Types of Floating Rate System [10]
b) Types of Pegging [10]

OR
Explain the objectives of foreign trade documentation and state types of Draft.

Q4) Explain in detail the organisation and functions of Bank for International
Settlements (BIS). [20]

OR
Explain in detail the methods of financing foreign trade.

Q5) Write notes on (any two) [20]
a) American Depository Receipts (ADRs) and Global Depository Receipts

(GDRs).
b) ECGC
c) BRICS
d) Currency futures.


P.T.O.
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Total No. of Questions : 5]

[5956]-Ext.-4006
M.Com. - II (External)

 215 : ADVANCED BANKING AND FINANCE
Foreign Exchange International Finance

(2015 Pattern) (Group - G) (Special Paper - III)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 100

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

PA-4146

à.à.à.à.à.1) Am§Vaamï´>r¶ ZmUo~mOma åhUOo H$m¶? ¶wamo S>m°ba ~mOmamÀ¶m {dH$mgmMr g{dñVa ‘m{hVr Úm. [20]
qH$dm

{dXoer {d{Z‘¶ ~mOma åhUOo H$m¶? {dXoer {d{Z‘¶ ~mOmamVrb {d{dY gh^mJr KQ>H$ gm§Jm.

à.à.à.à.à.2) Am§Vaamï´>r¶ H$O©~mOma åhUOo H$m¶? Am§Vaamï´>r¶ H$O© ~mOmamVrb {d{dY gmYZo ñnï> H$am. [20]
qH$dm

^maVr¶ [aPìh© ~±Ho$Mr {dXoer {d{Z‘¶ ~mOmamVrb ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.3) Imbrb ~m~r ñnï> H$am.
A) ~XbË¶m Xa nÕVrMo àH$ma [10]
~) ~m§YZr MbZmMo àH$ma [10]

qH$dm
 {dXoer ì¶mnmamVrb XñVEodOm§Mo CX²Xoe ñnï> H$am. Am{U S´>mâQ> Mo àH$ma gm§Jm.

à.à.à.à.à.4) Am§Vaamï´>r¶ goQ>b‘|Q>g² ~±Ho$Mo g§KQ>Z Am{U H$m¶} g{dñVa ñnï> H$am. [20]
qH$dm

{dXoer ì¶mnmambm {dÎmnwadR>m H$aÊ¶mÀ¶m {d{dY nÕVr g{dñVa ñnï> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [20]
A) A‘o[aH$Z {S>nm°PrQ>ar [agrQ>g² Am{U ½bmo~b {S>nm°PrQ>ar [a{gQ²>g
~) Am§Vaamï´>r¶ nV Am{U h‘r ‘hm‘§S>i
H$) ~«r³g (BRICS)
S>) H$aÝgr â¶wMg©





Total No. of Questions : 5]

[5956]-Ext.-4007
M.Com. - II (External)

 ADVANCED MARKETING ( Special Paper- V)
217 : Marketing Research International Marketing

(2015 Pattern) (Semester - III) (Group - H)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) All questions are compulsory.
2) All questions carry equal marks.

PA-4147 [Total No. of Pages : 2

SEAT No. :

Q1) What is meant by International Marketing? Explain scope and objective of
International marketing. [20]

OR
Explain in detail the Recent Import-Export procedure.

Q2) Explain the reasons for entry in international marketing. [20]
OR

What are the various kinds of Facilities  and Incentives available to export
business? Discuss briefly.

Q3) What is meant by export financing? Explain the role played by various financial
institutions in export finance. [20]

OR
Describe challenges and opportunities in International Marketing.

Q4) a) Write a note on GATT. [10]
b) State Functions of world trade organisation. [10]

OR
a) State procedure of obtaining Export Credit Insurance.
b) Describe Exchange Facilities provided by RBI and EXIM Bank.

Q5) Write short notes on (any four) [20]
a) Labelling and packaging of goods
b) Export License
c) Significance of samples in exporting
d) Barries in International Marketing
e) Marine Insurance
f) Uniform Pricina


P.T.O.
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Total No. of Questions : 5]

[5956]-Ext.-4007
M.Com. - II (External)

 ADVANCED MARKETING ( Special Paper- V)
217 : Marketing Research International Marketing

(2015 Pattern) (Semester - III) (Group - H)

(‘amR>r ê$nm§Va)

doi : 3 Vmg] [ EHy$U JwU : 100

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

PA-4147

à.à.à.à.à.1) Am§Vaamï´>r¶ {dnUZ åhUOo H$m¶? Am§Vaamï´>r¶ {dnUZmMr ì¶már Am{U C{Ôï>²¶o ñnï> H$am. [20]
qH$dm

AmYw{ZH$ Am¶mV-{Z¶m©V H$m¶©nÕVr ñnï> H$am.

à.à.à.à.à.2) Am§Vaamï´>r¶ {dnUZmVrb àdoemMr H$maUo g{dñVa ñnï> H$am. [20]
qH$dm

{Z¶m©V ì¶mnmamgmR>r CnbãY AgUmè¶m {d{dY àH$maÀ¶m gw{dYm Am{U àbmô Zo (Incentives) H$moUVr
¶m{df¶r WmoS>³¶mV MMm© H$am.

à.à.à.à.à.3) {Z¶m©V {dÎmnwadR>m åhUOo H$m¶? {Z¶m©V {dÎmnwadR>²¶m‘Ü¶o {d{dY {dÎmg§ñWm§Zr {Z^mdbobr ŷ{‘H$m ñnï>
H$am. [20]

qH$dm
Am§Vaamï´>r¶ {dnUZmVrb AmìhmZo Am{U g§Yr ¶m§Mo dU©Z H$am.

à.à.à.à.à.4) A) J°Q> ¶mda {Q>n {bhm. [10]
~) OmJ{VH$ ì¶mnma g§KQ>ZoMr H$m¶} gm§Jm. [10]

qH$dm
A) {Z¶m©V nV{d‘m {‘i{dÊ¶mMr nÕVr gm§Jm. [10]
~) Ama. ~r. Am¶. d E³Pr‘ ~±Ho$H$Sy>Z {Xbm OmUmè¶m {d{Z‘¶ gw{dYm {deX H$am. [10]

à.à.à.à.à.5) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]
A) dñVwMo {MÆ>rH$aU Am{U g§doð>Z
~) {Z¶m©V nadmZm
H$) {Z¶m©V ì¶mnmamVrb Z‘wZm dmQ>nmMo ‘hÎd
S>) Am§Vaamï´>r¶ {dnUZmVrb AS>Wio
B) gmJar {d‘m
’$) g‘mZ/EH$gmaIr qH$‘V





Total No. of Questions : 6]

[5956]-Ext.-4008A
M.Com. - II (External)

204 : ADVANCE ACCOUNTING AND TAXATION
Recent Advances in Accounting, Taxation, Auditing and Case Studies

(2015 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1) Attempt all questions from Section I.
2) Attempt any two questions from Section II.
3) Figures to the right indicate full marks.
4) Use of calculator is allowed.

PA-4239 [Total No. of Pages : 4

SEAT No. :

SECTION - I
Q1) Explain various provisions in clause 49 of Listing Agreement regarding the

Board of Directors of a company. [15]
OR

Explain the term Human Resource Accounting. Explain the purpose and
significance of Human resource accounting. [15]

Q2) Explain the meaning and nature of Intellectual Property. Explain the accounting
treatment of Intangible Assets as per the applicable Accounting Standards.[15]

OR

Explain various provisions relating to Audit as per Companies Act 2013. [15]

Q3) Write Short notes (any two): [20]
a) Salient features of GST

b) IFRS

c) Transfer Pricing

d) Forensic Accounting

e) Employee Stock Option
P.T.O.
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SECTION - II
(Attempt any two from the following three)

Q4) From the following balance sheet of Victorious Ltd., Evaluate the financial
position of the company on the basis of the following ratios: [25]
a) Current Ratio

b) Quick Ratio

c) Debt Equity Ratio

d) Proprietary Ratio

e) Fixed Assets to Net worth Ratio

Liabilities Amount Assets Amount

Equity Share Capital 5,00,000.00 Land & Building 10,00,000.00

Reserves and Surplus 3,00,000.00 Plant & Machinery 2,00,000.00

Profit and Loss Account 1,00,000.00 Furniture 2,00,000.00

10% Debentures 1,00,000.00 Stock 3,00,000.00

Sundry Creditors 4,50,000.00 Bills Receivable 4,000.00

Bills Payable 2,50,000.00 Sundry Debtors 45,000.00

Outstanding Expenses 1,80,000.00 Cash in hand 1,51,000.00

Outstanding Taxes 1,20,000.00 Cash at Bank 1,00,000.00

Total 20,00,000.00 Total 20,00,000.00

Support your answers with appropriate comments and suggestions.

Q5) In the following cases discuss the provisions and allowable deductions under
chapter VIA for the AY22 - 23. [25]
a) Mr. Ashok an employee of a private company paid the following Life

Insurance premiums :

Self - Rs. 26,000/- (Capital Sum Assured - policy Amount - Rs. 2,50,000)

Father - Rs. 28,500/- (Capital Sum Assured - policy Amount Rs. 1,50,000)

Spouse - Rs. 8,000/- (Capital Sum Assured - policy Amount Rs. 1,00,000)

Son - Rs. 4,000/- (Capital Sum Assured - policy Amount Rs. 1,00,000)

Daughter - Rs. 3,000/- (Capital Sum Assured - policy Amount
Rs. 1,00,000)
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b) Mr Ashok paid the Medical Insurance Premium

Self - Rs. 20,000/-

Mother - Rs. 20,000/-

Son - Rs. 5,000/-

c) Mr. Ashok paid the following tution fees

M.Com tution fees for his spouse - Rs. 21,000/-

Std. VII and Std. X tution fees for his children - Rs. 45,000/-

d) Mr. Ashok aged 61 years received the interest from his investments in
the following manner during the accounting year 21 - 22 :

Name of the Bank Type of Account Interest received/accrued

ICICI Saving Rs. 11,000

SBI Fixed Deposit Rs. 21,500/-

PNB Recurring Deposit Rs. 14,650/-

e) Net Dividend received during the accounting year 21 - 22 by Mr. Ashok
from the following investments :

Name of the Domestic Company Dividend Received

SAIL Rs. 4,522/-

MRF Rs. 3,560/-

Q6) a) From the following calculate the value of Depreciation and written down
value of each block of asset of XYZ Co., for the AY 2022 - 2023. [10]

Following table shows the opening values, Purchased and Sales of
different assets for the accounting year 21 - 22 :

Type of Asset % of Opening Purchase Sales

Depreciation Balance Date 12/12/21 6/10/21

Residential Building 5% Rs. 10,00,000

Furniture 10% Rs. 3,00,000 Rs. 2,00,000

Plant and Machinery 15% Rs. 5,00,000 Rs. 2,00,000
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b) ABC partnership firm was maintaining the following books of accounts
in the physical form till the accounting year 20 - 21. Traditionally it
maintained the following books of accounts : [10]
• Cash book
• Day Books
• Ledger
• Cash flow register
In the accounting year 21 - 22, the firm upgraded the accounting system
to the digital form. The above books were maintained in the electronic
mode. Hence it presented the print outs of the above data to the assessing
officer.
Comment whether the AO would accept the print out data of the books
of Accounts as per the provisions of section 2(12A)
Mr. Akshay (age 45 years) (Gross Taxable Income 6,85,000/-) failed to
file his Income tax return by the due date, for the AY 21 - 22.
i) Comment on the penalty to be charged to him for not filling the

return within the specified due date.
ii) Comment on the Due date of filling the belated and revised ITR for

the AY 22 - 23.
c) Following are the details of the Assets of a Charitable Trust in the

accounting year 2021 - 2022 : [5]
Particulars Amount
Original cost of Machinery Rs. 5,00,000
Installation charges Rs. 1,00,000
Total Cost of old Machinery Rs. 6,00,000
Original Cost of New Machinery Rs. 7,00,000
Installation charges of New Machinery Rs. 40,000
Total Cost of New Machinery Rs. 7,40,000
Sale Proceeds of old Machinery Rs. 8,00,000
You are required to show the working for the computation of Taxable
Capital Gains.





Total No. of Questions : 6]

[5956]Ext.-4009

M.Com.  - II (External)
ADVANCED COST ACCOUNTING AND COST SYSTEM

208 : Recent Advances in Cost Accounting and Case Studies in
Cost and Works Accounting

(2015 Pattern) (Special Paper - IV)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:

1) Attempt all questions from Section I.

2) Attempt any two question from Section II.

3) Figures to the right indicate full marks.

4) Use of calculator is allowed.

PA-4149 [Total No. of Pages : 3

SEAT No. :

SECTION - I

Q1) Describe in brief the nature and objectives of CAS 08 to 10. [15]

OR

Describe the scope and main terms in CAS Service Cost Centre (13), Pollution
Control Cost (14), Selling and Distribution Overhead (15). [15]

Q2) Explain in detail features and benefits of Enterprises Resources Planning (ERP).
[15]

OR

Explain the objectives and scope of generally accepted cost accounting
principles. [15]

Q3) Write short notes (Any Two): [20]

a) Scope of CAS - 3.

b) Reports of Cost Audit.

c) Implementation of ERP.

d) Problems of Productive Audit.

P.T.O.
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SECTION - II
(Attempt any two)

Q4) As a Cost Accountant reconcile the following data considering cost records
as a base : [25]
Particular Rs.

Net Loss as per costing records 1,72,400

Works overhead under recovered in costing 3,120

Administrative overhead recovered in excess 1,700

Depreciation over charged in costing 1,300

Interest received not included in costing 8,000

Obsolescence charged (Loss) in financial books 5,700

Income tax provided in financial books 40,300

Bank interest credited in financial books 750

Store adjustment (Cr) in financial books 475

Opening stock is undervalued in cost accounts by 1,400

Closing stock overvalued in cost accounts by 2,400

Interest charged in cost account only 6,000

Provision for doubtful debts in financial books 150

Preliminary Expenses written off in financial books 800

Q5) a) A practising Doctor now spend Rs. 0.90 per kilometre on Taxi fares for
his patients visits. He is considering two other alternatives, the purchase
of a new small car or an old bigger car. [15]
The estimated cost figures are:

Particular New Small Car Old Big Car

Purchase Price Rs. 3,50,000 Rs. 2,00,000

Sale price after 5 years Rs. 1,90,000 Rs. 1,20,000

Repairs and Servicing p.a. Rs. 10,000 Rs. 12,000

Taxes and Insurance p.a. Rs. 17,000 Rs. 7,000

Petrol consumption per litre 10 km 7 km

Petrol Price per litre Rs. 35 Rs. 35

He estimates that he does 10,000 km. annually. What is the total cost of
alternatives and which should be the best alternatives? If his practice
expands and he has to do 19,000 km. per annum. What should be his
decision? As a Cost Accountant give your comments with suitable
working.
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b) Annual demand for a particular item of inventory is 10,000 units. Inventory
carrying cost per unit per year is 20% and ordering cost is Rs. 40 per
order. The price quoted by the supplier is Rs. 4 per unit. However, the
supplier is willing to give discount of 5% for orders of 1,500 units or
more. As an expert give your opinion whether to avail the discount offer
or no. [10]

Q6) a) A firm can purchase a separate part from an outside source at Rs. 11 per
unit. There is a proposal that the spare part be produced in the Factory
itself. For this purpose a machine costing Rs. 1,00,000 with annual capacity
of Rs. 20,000 units and a life of 10 years will be required. A foreman with
a monthly salary of Rs. 500 will have to be changed. Materials required
will be Rs. 4.00 per unit and wages Rs. 2.00 per unit. Variable overheads
are 150% of direct labour. The firm can easily raise funds at 10% p.a. As
an Expert in this field advice the firm whether the proposal should be
accepted or no with reason. [15]

b) You are appointed as a Cost Accountant. From the following particulars
show the calculations of: [10]

i) Total Material Cost Variance

ii) Material Price Variance

iii) Material Usage Variance

Materials Standard Actual

Units Price (Rs.) Units Price (Rs.)

A 1,010 1.0 1,080 1.2

B 410 1.5 380 1.8

C 350 2.0 380 1.9


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PART - I

Q1) Define Five’s System. Explain in detail the utility of Five’s system of Quality
Management. [20]

OR

Define Cross Cultural Management. Explain in detail the issues in Cross Cultural
Management. [20]

Q2) Define Turn Around Management. Explain in detail the significance of Turn
Around Management. [20]

OR

Define Innovation Management. Explain in detail the advantages and significance
of Innovation Management. [20]

Q3) Write short notes (Any Two) [10]

a) Six Sigma

b) Global Management System

c) Restructuring of Business

d) Tools of E.R.P.

P.T.O.



2[5956] Ext.-4010

PART - II

Solve following Cases
Q4) Case Study No.: 1 [25]

The Indian Government has implemented the scheme of Public Distribution
System (PDS) for food grains and other essential consumer items. The main
objective of the scheme had been to ensure the supply of the essential consumer
items to the vulnerable sections of society. However, it has been found that
the scheme has not been very efficient and many of the ‘vulnerable’ society
members could not avail of the services of this distribution system.
The Government is now proposing to launch a new Targeted Public Distribution
Scheme (TPDS). This scheme shall segment the lower and higher segment
consumers through separate ration cards and prices for the items sold.
a) Suggest the possible reasons for the inefficiencies of the PDS.
b) What actions should be undertaken to ensure the success of TPDS?

Q5) Case Study No. : 2 [25]

‘Shalimar Pvt. Ltd.’ is one of the well - established company in India. It was a
major attribution problem with senior executive. It was believed that the
executive were existing the company as they were unable to reconcile with its
‘Power of One’ strategy. The strategy was about merging the beverages wing
and the food division barring water division. It was aimed at leveraging the
synergetic benefit of selling food and beverages together since consumers
tended to buy beverages and snacks together. Five senior executives of Shalimar
Pvt. Ltd. resigned from company in 2016 joing a stream of colleagues who
had left the company following a change in corporate strategy. Even though
shalimar Pvt. Ltd. had leadership development initiatives in place and had
created a talent pool, industry observers felt that the company would have to
resolve the attrition issue at the top level with effective people strategy as well
as change management initiatives.
Questions :
a) State issues and challenges involved in dealing with the employee attrition

at Shalimar Pvt. Ltd.
b) Analyse how Shalimar Pvt. Ltd. can deal with the resistance of employees

towards change in its corporate strategy.
c) Explore ways in which Shalimar Pvt. Ltd. can retain its seniors executives

and make a change in corporate strategy acceptable for them?


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^mJ^mJ^mJ^mJ^mJ - I

à.à.à.à.à.1) ’$mB©ìh'O àUmbr Mr ì¶m»¶m Úm. g§nyU© JwUdÎmmMr ’$mB©ìh'O àUmbrMr Cn¶wº$Vm g{dñVa ñnï> H$am.
[20]

qH$dm

Am§Va-gm§ñH¥${VH$ ì¶dñWmnZmMr ì¶m»¶m X²¶m. Am§Va-gm§ñH¥${VH$ ì¶dñWmnZmVrb g‘ñ¶m g{dñVa
ñnï> H$am. [20]

à.à.à.à.à.2) nwZê$ÁOrdZ ì¶dñWmnZmMr ì¶m»¶m X²¶m. nwZê$ÁOrdZ ì¶dñWmnZmMo ‘hËd g{dñVa ñnï> H$am. [20]

qH$dm

Zm{dÝ¶nyU© ì¶dñWmnZmMr ì¶m»¶m X²¶m. Zm{dÝ¶nyU© ì¶dñWmnZmMo ’$m¶Xo Am{U ‘hÎd g{dñVa ñnï> H$am.
[20]

à.à.à.à.à.3) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) {g³g {g½‘m

~) OmJ{VH$ ì¶dñWmnZ àUmbr

H$) CÚmoJmMr nwZ: aMZm

S>) B©.Ama.nr. Mr gmYZo
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^mJ^mJ^mJ^mJ^mJ - II

à.à.à.à.à.4) Ho$g H«$‘m§H$ : 1 [25]

^maV gaH$maZo gmd©O{ZH$ {dVaU ì¶dñWo‘m’©$V AÞYmÝ¶o VgoM BVa Amdí¶H$ Cn^mo½¶ dñVy§À¶m {dVaUmMr
¶moOZm (nr.S>r.Eg.) am~{dbobr Amho. ¶m ¶moOZoMm CÔoe g‘mOmVrb Xþ~©b KQ>H$m§Zm ¶m dñVy§§Mm nwaogm
à‘mUmV nwadR>m ìhmdm hm Amho. VWm{n, g‘mOmVrb Xþ~©b KQ>H$m§Zm ¶m ¶moOZoMm nwaogm Cn¶moJ hmoV Zmhr
H$maU {h ì¶dñWm nwaoer H$m¶©j‘ Zmhr Ago AmT>iyZ Ambo Amho.
¶m nmíd©̂ y‘rda, emgZmZo {d{eï> Ü¶o¶ b{jV gmd©O{ZH$ {dVaU ì¶dñWm (Q>r.nr.S>r.Eg.) am~{dÊ¶mMo
àñVm{dV Ho$bo Amho. {h ¶mooOZm gdm©V H$‘r CËnÞ JQ>mVrb Cn^mo³Ë¶m§gmR>r am~{dbr OmB©b, ¶m ¶moOZoA§VJ©V
gdm©V H$‘r VgoM Cƒ CËnÞ JQ>mVrb Cn^mo³Ë¶m§Zm doJdoJù¶m a§JmÀ¶m {eYmn{ÌH$m {Xë¶m OmVrb
VgoM Ë¶m§Zm nwa{dë¶m OmUmè¶m dñVy§Mo Xa{h {^Þ AgVrb.
A) gmd©O{ZH$ {dVaU ì¶dñWoÀ¶m AH$m¶©j‘VoMr e³¶ AgUmar H$maUo Z‘yX H$am.
~) {d{eï> Ü¶o¶ b{jV gmd©O{ZH$ {dVaU ì¶dñWm ¶eñdr hmoÊ¶mgmR>r H$moUVr H¥$Vr H$aUo Amdí¶H$ Amho.

à.à.à.à.à.5) Ho$g H«$‘m§H$ : 2 [25]

"em{b‘ma àm. br.' hr ^maVmVrb Zm‘m§{H$V H§$nZr ‘Yrb EH$ Amho. ¶m H§$nZr‘Ü¶o d[að> nmVirdarb
H$m¶©H$mar A{YH$mar dJ© ì¶dñWmnH$s¶ H$m‘H$mO nyU© H$aVmZm Amnë¶m nXmdarb H$m‘H$mOmV ‘hÎdmMr
loð> ì¶º$s Z¸$s H$moU ¶m ~m~V gdmªZmM àíZ gVmdV hmoVm. H§$nZrVrb H$mhr A{YH$mar dJ© H§$nZr
gmoSy>Z ~mhoa nS>V hmoVo d ¶mMo H$maU åhUOo H§$nZrMo EH$ N>Ìr H$ma^mam‘wio KoVboë¶m {ZU©¶m ~m~V d
ì¶mdgm{¶H$ ì¶yhaMZo ~amo~a ¶m A{YH$mar dJm©g Vmi‘oi gmYVm ¶oV ZìhVm. H§$nZrZo J«mhH$mMr JaO/
‘mJUr Zwgma ì¶mdgm{¶H$ ì¶yhaMZm H$aVmZm nmUr gmoSy>Z gd© no¶ {d^mJ d ImÚnXmW© {d^mJ EH$Ì
H$ê$Z, EH${ÌV gmR>m R>oD$Z ì¶dgm¶ dmT> H$aÊ¶m ~m~VMm {ZU©¶ KoVbm. gZ 2016 ‘Ü¶o H§$nZrÀ¶m
nmM d[að> A{YH$mè¶m§Zr Amnë¶m nXmMm amOrZm‘m XoD$Z H§$nZr gmoS>br Am{U  H§$nZrÀ¶m ì¶mdgm{¶H$
ì¶yhaMZm ~Xbm§er g‘Ýd¶ gmYVm Z Amë¶m‘wio nydu H§$nZr gmoS>boë¶m A{YH$mè¶m§~amo~a EH$Ì Ambo.
em{b‘ma àm. br. H§$nZrZo Amnë¶m H§$nZr‘Ü¶o d[að> nmVirdarb A{YH$mè¶m§gmR>r Z¡V¥Ëd JwU dmT>rgmR>r
Ho$bobo à¶ËZ ì¶dñWmnZ V§ÌmVrb ~Xbmer g‘Ýd¶ gmYÊ¶mgmR>r d à{V^md§V Hw$eb A{YH$mar dJm©gmR>r
OmoSy>Z R>odUmar ¶§ÌUm C^mê$Z XoIrb CÚmoJ {ZarjH$m§À¶m ‘Vo H§$nZrZo ì¶dñWmnZmMo d[að> nmVirdarb
H$m‘ H$aUmè¶m A{YH$mè¶m§À¶m àíZm§Mm {dMma H$amdm d ¶mgmR>r H$m¶©j‘ ì¶º$s¨Zm EH$Ì AmUÊ¶mgmR>r
Amnë¶m ì¶dñWmnZ YmoaUmV ~Xb H$amdm.
àíZ :
A) em{b‘ma àm.{b. ‘Yrb H$m‘Jma gmoSy>Z OmÊ¶m‘wio hmoUmè¶m g‘ñ¶m Am{U AmìhmZo ñnï> H$am.
~) em{b‘ma àm. {b. À¶m ì¶yhaMZm ~Xbm§Zm hmoUmè¶m H$m‘Jma {damoYmV H§$nZr H$er gm‘moar OmB©b

¶mMo {díbofU H$am.
H$) H§$nZrMo d[að> nmVirdarb A{YH$mar dJ© H§$nZrÀ¶m ì¶yhaMZmË‘H$ ~Xbmer OwidyZ KoVrb d

H§$nZr gmoSy>Z ~mhoa Z OmVm H§$nZr‘Ü¶o amhVrb ¶mgmR>r H§$nZrZo H$moUË¶m ‘mJm©Mm Adb§~ H$amdm
Ago AmnUmg dmQ>Vo ñnï> H$am.


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Q1) Define the term financial inclusion. Explain its benefits, RBI guidelines and
constraints associated to it. [20]

OR

Explain the term CAMELS. “Discuss good management takes care of
remaining in CAMELS rating of any Bank” whether you agree or not express
your views in detail.

Q2) What do you mean by Financial Institutional Investments (FII). State the
changing trends in Financial Institutional Investments. [20]

OR

Elaborate the term customer Relationship Management. Explain in detail the
customer services and customer education required.

Q3) Write short notes (any two) [10]

a) Non performing Assets (NPA)

b) Certificate of deposits

c) Internet Banking

d) Role of Micro - finance

P.T.O.
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CASE STUDY

Instruction to the candidates:
1) All cases carry equal marks.
2) Solve any two cases from the following.

Case No. : 1 [25]

Q1) How would you help a government officer who is transferred every 3 to 6
years with regard to advice over the following issues?
a) What bank should he open a saving bank account?
b) He wishes to take a loan with tenure of 15 years? Which bank should he

borrow from?
c) How can he go about opening a fixed and recurring deposit account?
d) What suggestions can you offer regarding account portability within the

bank? Can you site an example of any such recent case in Indian banking.

Case No. : 2 [25]

Q2) Mr. Narayan approach to HDFC bank for opening saving Bank Account.
Give your comment in following situation.
a) What are K.Y.C. Norms? Is it necessary for HDFC Bank to follow K.Y.C.

Norms while opening saving Account?
b) Does HDFC Bank allowed to Mr. Narayan to open saving Bank Account?
c) Which precautions should be taken by HDFC Bank while opening

partnership firm saving account?
d) Which precautions should taken by HDFC Bank while opening Hindu

undivided family saving Account?

Case No. : 3 [25]

Q3) Suppose you are a bank manager, how will you solve the following cases?
a) A bill of exchange dated 25th April 2017 payable 3 months after the date.

What is the due dates for this bill.
b) A customer presented a cheque in bank dated 1st Feb. 2017 on 2nd May

2017.
c) A cheque is payable to Mansi Jog or order. It is Stolen and Mansi’s

endorsment is ferger, The Banker pays the cheque in due course. What
is banker’s liabilities? Can the bank debit the Drawer’s Account with the
amount of cheque?

d) What are the necessary conditions for a payment in order to be present
in due course as per Negotiable Instrument Act, 1881?


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à.à.à.à.à.1) {dÎmr¶ g‘m¶moOZmMr ì¶m»¶m XoD$Z {dÎmr¶ g‘m¶moOZmMo ’$m¶Xo, [aPìh© ~±Ho$Mr ‘mJ©Xe©H$ VËdo Am{U
Ë¶m§À¶m AS>MUr ñnï> H$am. [20]

qH$dm

“CAMELS {h g§H$ënZm ñnï> H$ê$Z ~±H$mMo Mm§Jbo ì¶dñWmnZ ~±H$mZm {Xë¶m OmUmè¶m CAMELS
À¶m BVa XOm©Mr (loUrMr) H$miOm© KoVo” AmnU ¶mÀ¶mer gh‘V AmhmV H$m¶? g{dñVa ñnï> H$am.

à.à.à.à.à.2) {dÎmr¶ g§ñWmË‘H$ Jw§VdUwH$Xma (FII) g§koMr ì¶m»¶m Úm. {dÎmr¶ g§ñWmË‘H$ Jw§VdUwH$Xmam§ ‘Yrb
~XbmÀ¶m àd¥Îmr ñnï> H$am.

qH$dm

ñnï> H$am. J«mhH$ ì¶dñWmnZmVrb g§~§Y g§H$ënZm, J«mhH$ godm Am{U J«mhH$ {ejU JaOoMo Amho
g{dñVa ñnï> H$am. [20]

à.à.à.à.à.3) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]

A) AZwËnmXH$ ‘mb‘Îmm (NPA)

~) R>od à‘mUnÌ

H$) B§Q>aZoQ> ~±H$sJ

S>) gwú‘ {dÎmmMr ŷ{‘H$m
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‘amR>r énm§Va

gyMZm …- 1) Imbr {Xboë¶m VrZ CXmhaUm§Zm n¡H$s H$moUVohr XmoZ CXmhaUo gmoS>dm.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

Ho$g Z§.…1

à.à.à.à.à.1) àË¶oH$ 3 Vo 6 dfm©‘Ü¶o ~Xbr hmoUmè¶m gaH$mar A{YH$mè¶mg Imbrb ~m~rg§X^m©V AmnU H$m¶ g„m
XoD$Z ‘XV H$amb. [25]

A) Ë¶mZo H$moUË¶m ~±Ho$V ImVo CKS>mdo?

~) 15 dfm©À¶m H$mbmdYrgmR>r Ë¶mg H$O© ¿¶md¶mMo Agë¶mg Ë¶mZo Vo H$moUË¶m ~±Ho$‘m’©$Z ¿¶mdo?

H$) ‘wXV d AmdVu R>od ImVo CKS>Ê¶m~m~VrV Ë¶mZo H$m¶ H$amdo?

S>) ~±H$ A§VJ©V ImVo gwdmh¶Vo~Ôb Vwåhr H$m¶ gwMdmb? ¶mg§X^m©V ^maVr¶ ~±qH$J ‘Yrb AmnU
EImXo CXmhaU Xob eH$mb H$m¶?

Ho$g Z§.…2

à.à.à.à.à.2) lr. Zmam¶U ¶m§Zr ~MZ ImVo CKS>Ê¶mgmR>r EM.S>r.E’$.gr. ~±Ho$~amo~a g§~§Y gmYbm. nwT>rb n[a{ñWVr
Zwngma Amnbo ñnï>rH$aU Úm. [25]

A) Amnbo J«mhH$ OmUm {Z¶‘mdbr åhUOo H$m¶? ~OV ImVo CKS>Vm§Zm EM.S>r.E’$.gr. ~±Ho$Zo
Amnbo J«mhH$ OmUm (K.Y.C.) {Z¶‘mdbr nmiZo Amdí¶H$ Amho?

~) EM.S>r.E’$.gr. ~±H$ lr. Zmam¶U ¶m§Zm ~MV ImVo CKS>Ê¶mg nadmZJr XoB©b?

H$) ^mJrXmarMo ~MV ImVo CKS>Vm§Zm EM.S>r.E’$.gr. ~±Ho$Zo H$moUVr H$miOr ¿¶mdr?

S>) qhXÿ A{d^º$ Hw$Qy>§~mMo ImVo CKS>Vm§Zm EM.S>r.E’$.gr. ~±Ho$Zo H$moUVr H$miOr ¿¶mdr?

Ho$g Z§.…3

à.à.à.à.à.3) AmnU ~±H$ ‘°ZoOa Amho, Ago g‘OyZ nwT>o {Xboë¶m Ho$gog H$em hmVmimb? [25]

A) VrZ ‘{hÝ¶mZ§Va Xo¶ Agbobo {dZr‘¶ nÌ 25 E{àb 2017 amoOr H$mT>bobr Amho. ¶m {dZr‘¶
nÌmMr Xo¶ VmarI H$moUVr?

~) 1 ’o$~«wdmar 2017 Mm YZmXoe EH$m J«mhH$mZo 2 ‘o 2017 amoOr ~±Ho$V gmXa Ho$bm.

H$) ‘mZgr OmoJ qH$dm {VÀ¶m AmXoemdê$Z Xo¶ Agbobm YZmXoe H$mT>ë¶m§ZVa Mmoarbm OmVmo. nwT>o
‘mZgrMo ~Vmda n¥ð>m§H$Z hmoVo. ~±Ho$V’}$ YZmXoemMo n¡go ¶Wmg‘¶ {Xbo OmVmV. ¶oWo ~±Ho$Mr Odm~Xmar
H$m¶? ~±H$ AmXoeH$mÀ¶m ImË¶mVyZ MoH$Mr a¸$‘ dOm H$ê$ eH$Vo?

S>) MbZj‘ XñVmEodO H$m¶Xm, 1881 à‘mUo ¶Wmg‘¶ n¡go Xoì¶mV ¶oÊ¶mgmR>r H$moUË¶m AQ>r nyU©
H$aUo Amdí¶H$ Amho?


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Q1) a) i) sustainable development [5]
ii) Sustainable marketing [5]

b) Explain the concepts and importance Sustainable marketing. [10]
OR

a) Explain the types of marketing strategies. [10]
b) Explain the advertising and media planning. [10]

Q2) a) Explain the concept of social medial mix. [10]
b) Explain the concept of search engine marketing and search engine

optimization. [10]
OR

a) Explain the details concepts of multi brand retail. [10]
b) Explain the importance of retailing. [10]

Q3) Explain ten different services in modern time of marketing. [20]
OR

a) Explain the process of integrated marketing communication in modern
times. [10]

b) Explain AIDA model. [10]
Q4) Explain the factors to be in to consideration while adopting a particular strategy.

[20]
OR

Explain the details alibab, filipkart and ebay e-marketing websites. [20]
Q5) Write short notes (any two) [20]

a) Event management services
b) Electronic payment system
c) Smart cards
d) Importance of e - commerce in marketing



P.T.O.
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à.à.à.à.à.1) A) i) emœV {dH$mg. [5]
ii) emœV {dnUZ. [5]

~) emœV {dnUZmMr g§H$ënZm Am{U ‘hÎd ñnï> H$am. [10]
qH$dm

A) {dnUZ ì¶wìhaMZoMo àH$ma ñnï> H$am. [10]
~) Om{hamV Am{U ‘mÜ¶‘ {Z¶moOZ g{dñVa ñnï> H$am. [10]

à.à.à.à.à.2) A) gm‘m{OH$ ‘mÜ¶‘ {‘l ¶mMr g§H$ënZm ñnï> H$am. [10]
~) {dnUZ emoY gmYZ Am{U n¶m©áVm emoY gmYZ ¶m g§H$ënZm ñnï> H$am. [10]

qH$dm
A) ‘pëQ> ~«±ÊS> [aQ>ob hr g§H$ënZm g{dñVa ñnï> H$am. [10]
~) [aQ>oqbJ Mo ‘hÎd ñnï> H$am. [10]

à.à.à.à.à.3) {dnUmÀ¶m AmYw{ZH$ H$mimVrb H$moUË¶mhr Xhm godm§Mo dU©Z H$am. [20]
qH$dm

A) AmYw{ZH$ H$mimV EH$mpË‘H$ {dnUZ g§àofUmMr à{H«$¶m ñnï> H$am. [10]
~) bj, AmdS>, BÀN>, Am{U H¥$Vr Mo n[aUm‘ ñnï> H$am. [10]

à.à.à.à.à.4) EImXr {d{eï> {dnUZ ì¶wìhaMZm ñdrH$maVmZm H$moUVo KQ>H$ {dMmamV KoVbo OmVmV Vo ñnï> H$am. [20]
qH$dm

A{b~m~, {’${bßH$mQ>© Am{U B©~o øm B©-{dnUZ do~gmBQ>g g{dñVa ñnï> H$am. [20]

à.à.à.à.à.5) Q>rn {bhm. (H$moUË¶mhr XmoZ) [20]
A) H$m¶©H«$‘ ì¶dñWmnZ godm
~) Bbo³Q´>m|{ZH$ no‘|Q> {gñQ>‘.
H$) ñ‘mQ>© H$mS>©
S>) {dnZUmV B©-H$m°‘g©Mo ‘hÎd


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